. Jydronit

2011
AC & DC Hydraulic
Power Packs Compact



Hydroni

o
—
o~
—
<
<)
—
o
O
[s2]
o
[e)]
o™
+

sales@hydronit.com

Q
O
o
o
(o))
=
S
Q
©
S
o
n
s
S
Q
n
-
<
o
=
O
o
7))
X
<
o
14
1]
=
o
o

$2110S$2008
pue SaAjeA ‘splojiuew
[BUISIX3 JB|NpO

Bupunow

uel ou X
abuey s|qep|sm :T00000084

syue3 onseld :d’N‘W1
syuel 9935 :30'a’'v

(31) swinjoA >uey

|BOILI3A A

adAy yuep

Sjel Mojj TOOSA | |@3ed Mol TOOSA

1y budnod + sbueyy Aypads ;1030w oN

(youms [ewiay/ yopms pess/ :uondo) DAALZ H(L/ S/) darT
(Uoams Jewayy/ youms pels/ :uondo) DAAZT :(1/ /) dATT
9jod 7 aseyd s|buis :zsOV

9jod 4 aseyd ajbuis SOV

3lod 7 sseyd-¢ :TEIV

3lod  aseyd-¢ €IV

:adA3 pue (m)]) 1amod 1ojow 2113299 DA B DV

(312112 07-1H TH :uondo) dwnd 1eab 3|gnop : (TH) xx+xxD
uoneaijdde asiou moj 4oy dwnd Jo3od [BaIRY kxS

dwnd 1eab s|qisianal 4 4

ownd Jeab sauas H 1xxH

dwnd 1eab ssuas Y Ix s

dwnd 1eab sauss O 1xxD

:(Aa1/22) jJuswadedsip pue adA} dwung

pabbnid - Jaij21 ou :dX

g Kyiaeo 9 Ayiaed vod uado - Jai31 ou 1X
- - ainssald bumas xew / adAy aajen JaiRY :@
9.1 Moy 0DSA | | [23e1 Mol TOOSA T Ayaed
£ kined s Aiaed
2pod 2pod (uonnoaxs sn [euondo)
P P 2pod dwnd s|qisianal 1o} 1HN sauss Joedwiod
jusuodwiod| jusuodwiod| | yuauodwod aAeA Aemt 163301 b0 )yoed Jomod
v Aaen € AiAen Z fiaed Bnid =7 SonIED g ".m:
709S9O S mm._ ._>mu .
aABA o8YD aines 5 ivn
|0J3U0d MOJJ OU X 0ZONA if :2dAy pjojiuew
(uiw/p) moyd4 :0 Aunen lequad |esiaAlun
uondo g sjusuodwod
SAJBA |0J3U0D MO} BUI| UINjaY ul-3jing pjoJiuewW [eua)
hdo’snen do T enEA do BABA dd SABA T fdg eAEA Mo soln
" 4+ N8§ - X - T - X - X - N -0abzozid -0Q¥ZV - 1082/ - £ - 119 - 9N - §/0avzeCz - Odd
Sa1l0SSe00e 1B yuel 8 Ajnen LAney g hiney  gAuney  pAined ¢ Auned Z Auned T Awned 0 Auned duwnd ployuew  1do 1030
sjusuodwod | | |enua)
|eutsixg

sjusuodwod |elbaju]

:9dwexg

3d0D 14dOW

IS
o
<
u
c
o
o
>
<
2
B
=



sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

QUICK SELECTION GUIDE

AC & DC electric motors | Section A |

DC motors
0,1512DC_T 12VDC motor - 150W - @ 80 + thermal switch
0,15 24DC_T 24VDC motor - 150W - @ 80 + thermal switch
0,5 12DC 12VDC motor - 500W - @ 80
0,5 24DC 24VDC motor - 500W - @ 80
0,512DC_T 12VDC motor - 500W - @ 80 + thermal switch
0,5 24DC_T 24VDC motor - 500W - @ 80 + thermal switch
0,8 12DC 12VDC motor - 800W - @ 80
0,8 24DC 24VDC motor - 800W - @ 80
0,8 12DC_T 12VDC motor - 800W - @ 80 + thermal switch
0,8 24DC_T 24VDC motor - 800W - @ 80 + thermal switch
1,612DC_T 12VDC motor - 1600W - @ 114 + thermal switch
2,112DC_T 12VDC motor - 2100W - @ 114 + thermal switch
2,224DC_T 24VDC motor - 2200W - @ 114 + thermal switch
2,412DC_T 12VDC motor - 2400W - @ 125 fan cooled + thermal switch
324DC_T 24VDC motor - 3000W - @ 125 fan cooled + thermal switch
2,5HD 12DC_T  12VDC motor - 2500W - @ 151 fan cooled B14-90 frame + thermal switch
3HD 24DC_T 24VDC motor - 3000W - @ 151 fan cooled B14-90 frame + thermal switch
4HD 24DC_T 24VDC motor - 4000W - @ 151 fan cooled B14-90 frame + thermal switch

AC motors: three-phase 4 poles (~1450 rpm @ 50Hz / ~1750 rpm @ 60Hz)

EO037AC341S3 integral motor 0,37kW S3 3-ph 4-pole 220/380V 50/60Hz frame 71
EO55AC341S3 integral motor 0,55kW S3 3-ph 4-pole 220/380V 50/60Hz frame 71
EO075AC341S3 integral motor 0,75kW S3 3-ph 4-pole 220/380V 50/60Hz frame 71
EO075AC342S3 integral motor 0,75kW S3 3-ph 4-pole 220/380V 50/60Hz frame 80
E110AC342S3 integral motor 1,1kW S3 3-ph 4-pole 220/380V 50/60Hz frame 80
E150AC343S3 integral motor 1,5kW S3 3-ph 4-pole 220/380V 50/60Hz frame 90
E220AC343S3 integral motor 2,2kW S3 3-ph 4-pole 220/380V 50/60Hz frame 90
E300AC343S3 integral motor 3kW S3 3-ph 4-pole 220/380V 50/60Hz frame 90

AC motors: single-phase 4 poles (~1450 rpm at 50Hz)

E037ACS41S3 integral motor 0,37kW S3 1-ph 4-pole 220V 50Hz frame 71

EO55ACS41S3 integral motor 0,55kW S3 1-ph 4-pole 220V 50Hz frame 71
EO55ACS42S3 integral motor 0,55kW S3 1-ph 4-pole 220V 50Hz frame 80
E075ACS42S3 integral motor 0,75kW S3 1-ph 4-pole 220V 50Hz frame 80
E110ACS43S3 integral motor 1,1kW S3 1-ph 4-pole 220V 50Hz frame 90
E150ACS43S3 integral motor 1,5kW S3 1-ph 4-pole 220V 50Hz frame 90
E220ACS43S3 integral motor 2,2kW S3 1-ph 4-pole 220V 50Hz frame 90

2 pole and special execution motors (High starting torque, high IP, with thermal protector,... available on request

www.hydronit.com

PPC2011/2-02




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

QUICK SELECTION GUIDE

AC & DC electric motors

B14 AC motors

B14550AC324S3 B14 motor 5,5kW S3 3-ph 2-pole 220/380V 50/60Hz frame 100
B14750AC325S3 B14 motor 7,5kW S3 3-ph 2-pole 220/380V 50/60Hz frame 112
B14400AC344S3 B14 motor 4kW S3 3-ph 4-pole 220/380V 50/60Hz frame 100
B14550AC344S3 B14 motor 5,5kW S3 3-ph 4-pole 220/380V 50/60Hz frame 100
B14750AC345S3 B14 motor 5,5kW S3 3-ph 4-pole 220/380V 50/60Hz frame 112
B14300ACS44S3 B14 motor 3kW S3 1-ph 4-pole 220V 50Hz frame 100
B14400ACS24S3 B14 motor 4kW S3 1-ph 2-pole 220V 50Hz frame 100

No motor: B14 Flange + coupling kit

XB14 71-0 mounting kit PPC for B14 motors frame 71 with pump group 0

XB14 80-0 mounting kit PPC for B14 motors frame 80 with pump group 0

XB14 71-1 mounting kit PPC for B14 motors frame 71 with pump group 1

XB14 80-1 mounting kit PPC for B14 motors frame 80 with pump group 1 @
XB14 90-1 mounting kit PPC for B14 motors frame 90 with pump group 1

XB14 100-1 mounting kit PPC for B14 motors frame 100/112 with pump group 1

X56C-0 mounting kit PPC for Nema 56C-face motors with pump group 0

X56C-1 mounting kit PPC for Nema 56C-face motors with pump group 1

Electric motors options

DC motor options

S150 12DC 80 starting relay 12VDC 150A with mounting kit for @ 80 motors
S$150 24DC 80 starting relay 24VDC 150A with mounting kit for @ 80 motors
S150 12DC 112 starting relay 12VDC 150A with mounting kit for @ 112-114 motors
S150 24DC 112 starting relay 24VDC 150A with mounting kit for @ 112-114 motors
S$200 12DC starting relay 12VDC 200A for @ 125 and @ 151 motors

$200 24DC starting relay 24VDC 200A for @ 125 and @ 151 motors

Universal central manifold

International execution (1/4" BSP exit ports)

UA Universal A type PPC body with 3 lateral cavities

UB Universal B type PPC body with 5 lateral cavities

v4 Universal 4 type PPC body for 4 way cartridge valves
UR Universal R type PPC body for reversible pump

USA execution (SAE 06 exit ports)

UAUS Universal A type PPC body with 3 lateral cavities US execution
UBUS Universal B type PPC body with 5 lateral cavities US execution
u4us Universal 4 type PPC body for 4 way cartridge valves US execution
URUS Universal R type PPC body for reversible pump US execution

www.hydronit.com

PPC2011/2-03




sales@hydronit.com

© +39 0362 1841 210 )il_.]drunit
QUICK SELECTION GUIDE

BeamBumps |_Section C |

G type gear pumps

Go,8
G1,1
G1,3
G1,6
G2,1
G2,6
G3,2
G3,7
G4,2
G4,9
G6,0
G7,9
G9,8

K type gear pumps

K0,2
Ko,4
K0,6
K0,9
K1,2
K1,6
K2,1
K2,7
K3,2
K3,7
K4,2
K5,0
K6,0
K7,9

H1,2
H1,7
H2,2
H2,6
H3,2
H3,8
H4,2
H4,7

www.hydronit.com

gear pump group 1 — 0,85 cc/rev G series
gear pump group 1 — 1,15 cc/rev G series
gear pump group 1 — 1,3 cc/rev G series
gear pump group 1 — 1,6 cc/rev G series
gear pump group 1 — 2,1 cc/rev G series
gear pump group 1 — 2,6 cc/rev G series
gear pump group 1 — 3,2 cc/rev G series
gear pump group 1 — 3,7 cc/rev G series
gear pump group 1 — 4,2 cc/rev G series

gear pump group 1 — 4,9 cc/rev G series
gear pump group 1 — 6,0 cc/rev G series
gear pump group 1 — 7,9 cc/rev G series
gear pump group 1 — 9,8 cc/rev G series

gear pump group 0 — 0,26 cc/rev K series + adaptor flange for group 0 pump
gear pump group 0 — 0,38 cc/rev K series + adaptor flange for group 0 pump
gear pump group 0 — 0,64 cc/rev K series + adaptor flange for group 0 pump
gear pump group 1 — 0,89 cc/rev K series

gear pump group 1 — 1,27 cc/rev K series

gear pump group 1 — 1,66 cc/rev K series

gear pump group 1 — 2,17 cc/rev K series

gear pump group 1 — 2,8 cc/rev K series

gear pump group 1 — 3,3 cc/rev K series

gear pump group 1 — 3,8 cc/rev K series
gear pump group 1 — 4,3 cc/rev K series
gear pump group 1 - 5,1 cc/rev K series
gear pump group 1 — 6,0 cc/rev K series
gear pump group 1 — 7,9 cc/rev K series

H type high pressure gear pumps

gear pump group 1 high pressure — 1,2 cc/rev H series
gear pump group 1 high pressure — 1,7 cc/rev H series
gear pump group 1 high pressure — 2,2 cc/rev H series
gear pump group 1 high pressure — 2,6 cc/rev H series
gear pump group 1 high pressure — 3,2 cc/rev H series
gear pump group 1 high pressure — 3,8 cc/rev H series

gear pump group 1 high pressure — 4,3 cc/rev H series
gear pump group 1 high pressure — 4,7 cc/rev H series

PPC2011/2-04




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'lit
QUICK SELECTION GUIDE

Gear Pumps

Double gear pumps with Hi-Lo system

KO0,9+3,2HL HI-LO double pump - 0,9 + 3,3cc/rev K series
K1,2+5HL HI-LO double pump - 1,2 + 5cc/rev K series

Bidirectional gear pumps
RO,2 Reversible gear pump group 0-0,26 cc/rev + adaptor flange for group 0 pump
RO,4 reversible gear pump - 0,38cc/rev + adaptor flange for group 0 pump
RO,6 reversible gear pump - 0,63cc/rev + adaptor flange for group 0 pump
RO,9 reversible gear pump - 0,88cc/rev + adaptor flange for group 0 pump
R1,3 reversible gear pump - 1,25cc/rev + adaptor flange for group 0 pump
R1,5 reversible gear pump - 1,5cc/rev + adaptor flange for group 0 pump
R2,1 Reversible gear pump group 1 - 2,1 cc/rev
R2,6 Reversible gear pump group 1 - 2,6 cc/rev

Helical rotor pumps for high pressure and low noise and low pulsation applications

S4,2 low noise helical rotor pump group 1 - 4,2cc/rev
S6,4 low noise helical rotor pump group 1 - 6,4cc/rev
S8,3 low noise helical rotor pump group 1 - 8,3cc/rev
S10 low noise helical rotor pump group 1 - 10,2cc/rev
S13 low noise helical rotor pump group 1 - 12,9cc/rev

Integral components: Cavity 0

Components in central manifold cavity 0
J check valve ball type 3/4-16UNF
S flow control valve 3/4-16UNF with screw
L plug 3/4-16UNF basic
N plug 3/4-16UNF open passage with 1/4”"BSPP exit port
Cavity 0 option
EPO1 exit port V4 BSPP
EM9001C pressure gauge shut-off valve 90° F-F + nipples M 1/4” BSPP — M 1/4" BSPP
EMILO1C pressure gauge shut-off valve F-F + nipples M 1/4” BSPP — M 1/4” BSPP
F401%**] pressure switch 1/4” BSPP where ** = max setting pressure (050-100-200-400 bar)
MIR63**EM pressure gauge @63 where ** = max press. (60-160-250-315 bar) + shut-off valve 90°

Integral components: Cavity 1

Components in central manifold cavity 1
D_60 guided needle relief valve M20x1,5 - 10+60 bar - socket screw adj.
D_180 guided needle relief valve M20x1,5 - 20+180 bar - socket screw adj.
D_280 guided needle relief valve M20x1,5 - 35+280 bar - socket screw adj.
D_350 Guided needle relief valve M20x1,5 - 50+350 bar - socket screw adj.
XP closed plug for relief valve M20x1,5 cavity

www.hydronit.com

PPC2011/2-05




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'lit
QUICK SELECTION GUIDE

Cavity 1 option

2 handwheel M8 for VMDC35/VMDC20/VCF6 valves
3 steel cap for VMDC35 relief valve
4 plastic seal for VMDC35 relief valve

Integral components: Cavity 2

Components in central manifold cavity 2

X open cavity — no valve

A NC solenoid 2/2 way 3/4-16UNF poppet valve

B NC solenoid 2/2 way 3/4-16UNF poppet valve with emergency

C NO solenoid 2/2 way 3/4-16UNF poppet valve with emergency

D NC solenoid 2/2 way 3/4-16UNF double poppet valve with emergency

E lever operated 2/2 way valve without micro-switch

EM lever operated 2/2 way valve with micro-switch

4 2 way emergency button valve

S flow control valve 3/4-16UNF with screw

T12DC proportional flow control valve poppet type 15I/min 315 bar + coil 12VDC ED100%
T24DC proportional flow control valve poppet type 15I/min 315 bar + coil 24VDC ED100%

) hand pump 3/4-16UNF 2 cc/stroke + suction/return line pipe 1/4"BSP 370mm
G closed plug 3/4-16UNF

H plug 3/4-16UNF with 1/4”"BSPP exit port

N plug 3/4-16UNF open passage with 1/4”"BSPP exit port

P plug 3/4-16UNF passing through 1/4"BSPP

L plug 3/4-16UNF basic
J check valve ball type 3/4-16UNF

4VA11C 4/2 way solenoid directional valve, closed center transient (only for U4 manifolds)
4VA2 4/3 way solenoid directional valve, center P to T (only for U4 manifolds)
4VB2 4/3 way solenoid directional valve, closed center (only for U4 manifolds)
4vVC2 4/3 way solenoid directional valve, H center (only for U4 manifolds)
4VE2 4/3 way solenoid directional valve, center A-B to T (only for U4 manifolds)
Cavity 2 option
V-CSB handwheel for CSB/CSU
EM9001C pressure gauge shut-off valve 90° F-F + nipples M 1/4” BSPP — M 1/4" BSPP
EMILO1C pressure gauge shut-off valve F-F + nipples M 1/4” BSPP — M 1/4” BSPP
F401%** pressure switch 1/4” BSPP where ** = max setting pressure (050-100-200-400 bar)
MIR63**EM pressure gauge @63 where ** = max press. (60-160-250-315 bar) + shut-off valve 90°

Cavity 2 valve coil

12DC_M130 Coil 12V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24DC_M130 Coil 24V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24RAC_M130 Coil 24V DC 18W ED75% for MSV30-31 + El. connector with rectifier 12-24V
115_50AC_M130 Coil 115V/50Hz AC 28VA ED75% only for MSV30 + El. connector DIN 43650-A
230_50AC_M130 Coil 230V/50Hz AC 28VA ED75% only for MSV30 + El. connector DIN 43650-A
110RAC_M130 Coil 110V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 115 V
220RAC_M130 Coil 220V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 230 V

www.hydronit.com

PPC2011/2-06




sales@hydronit.com * +39 0362 1841 210 )il_.]drnnit
QUICK SELECTION GUIDE

Cavity 2 valve coil

12DC_M140 Coil 12V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24DC_M140 Coil 24V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24RAC_M140 Coil 24V DC 22W ED100% for MSV-MDV + El. connector with rectifier 12-24 V
110RAC_M140 Coil 110V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 115 V
220RAC_M140 Coil 220V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 230 V
12DC_M630 coil 12V DC ED100% + Electric connector DIN 43650-A

24DC_M630 coil 24V DC ED100% + Electric connector DIN 43650-A

24AC_M631 coil 24V AC ED100% with integrated rectifier + Electric connector DIN 43650-A
115AC_M631 coil 115V AC ED100% with integrated rectifier + Electric connector DIN 43650-A
230AC_M631 coil 230V AC ED100% with integrated rectifier + Electric connector DIN 43650-A

Integral components: Cavity 3

Components in central manifold cavity 3
F02 fixed pressure compensated flow control valve 3/4-16UNF hole 0,8mm
FO3 fixed pressure compensated flow control valve 3/4-16UNF hole 1mm
F04 fixed pressure compensated flow control valve 3/4-16UNF hole 1,25mm
FO5 fixed pressure compensated flow control valve 3/4-16UNF hole 1,5mm
F06 fixed pressure compensated flow control valve 3/4-16UNF hole 1,75mm
FO7 fixed pressure compensated flow control valve 3/4-16UNF hole 2mm
F09 fixed pressure compensated flow control valve 3/4-16UNF hole 2,5mm
F11 fixed pressure compensated flow control valve 3/4-16UNF hole 3mm
F13 fixed pressure compensated flow control valve 3/4-16UNF hole 3,5mm
F15 fixed pressure compensated flow control valve 3/4-16UNF hole 4mm
R2 compensated flow control valve 3/4-16UNF with screw 1 + 2,2 I/min
R3 compensated flow control valve 3/4-16UNF with screw 1,6 + 4 |/min
R4 compensated flow control valve 3/4-16UNF with screw 2,5 <+ 5 I/min
R5 compensated flow control valve 3/4-16UNF with screw 3+ 7 I/min
R6 compensated flow control valve 3/4-16UNF with screw 4,9 + 10,8 I/min
R7 compensated flow control valve 3/4-16UNF with screw 8 + 18,5 I/min
S flow control valve 3/4-16UNF with screw
4 2 way emergency button valve
AR NC solenoid 2/2 way 3/4-16UNF poppet valve with reversible flow
BR NC solenoid 2/2 way 3/4-16UNF poppet valve +emergency with reversible flow
CR NO solenoid 2/2 way 3/4-16UNF poppet valve + emergency with reversible flow
D NC solenoid 2/2 way 3/4-16UNF double poppet valve with emergency
J check valve ball type 3/4-16UNF
G closed plug 3/4-16UNF
H plug 3/4-16UNF with 1/4"BSPP exit port
N plug 3/4-16UNF open passage with 1/4”"BSPP exit port
P plug 3/4-16UNF passing through 1/4"BSPP
L plug 3/4-16UNF basic
P**12DC proportional relief valve 3/4-16UNF 12VDC where ** = max pressure (60-210 bar)
P**24DC proportional relief valve 3/4-16UNF 24VDC where ** = max pressure (60-210 bar)
V** relief valve 3/4-16UNF where ** = max pressure (40-110-250-350 bar) - socket screw

www.hydronit.com

PPC2011/2-07




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldl"ﬂl'lit
QUICK SELECTION GUIDE

Cavity 3 option
V-CSB handwheel for CSB/CSU
2 handwheel M8 for VMDC35/VMDC20/VCF6 valves
EM9001C pressure gauge shut-off valve 90° F-F + nipples M 1/4” BSPP — M 1/4" BSPP
EMILO1C pressure gauge shut-off valve F-F + nipples M 1/4” BSPP — M 1/4” BSPP
F401%** pressure switch 1/4” BSPP where ** = max setting pressure (050-100-200-400 bar)
MIR63**EM pressure gauge @63 where ** = max press. (60-160-250-315 bar) + shut-off valve 90°

Cavity 3 valve coil voltage

12DC_M130 Coil 12V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24DC_M130 Coil 24V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24RAC_M130 Coil 24V DC 18W ED75% for MSV30-31 + El. connector with rectifier 12-24 V
115_50AC_M130 Coil 115V/50Hz AC 28VA ED75% only for MSV30 + Electric connector DIN 43650-A
230_50AC_M130 Coil 230V/50Hz AC 28VA ED75% only for MSV30 + Electric connector DIN 43650-A
110RAC_M130 Coil 110V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 115 V
220RAC_M130 Coil 220V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 230 V
12DC_M140 Coil 12V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24DC_M140 Coil 24V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24RAC_M140 Coil 24V DC 22W ED100% for MSV-MDV + El. connector with rectifier 12-24 V
110RAC_M140 Coil 110V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 115 V
220RAC_M140 Coil 220V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 230 V

Integral components: Cavity 4

Component in central manifold cavity 4

A NC solenoid 2/2 way 3/4-16UNF poppet valve

B NC solenoid 2/2 way 3/4-16UNF poppet valve with emergency

C NO solenoid 2/2 way 3/4-16UNF poppet valve with emergency .
D NC solenoid 2/2 way 3/4-16UNF double poppet valve with emergency %\5
E lever operated 2/2 way valve without micro-switch

EM lever operated 2/2 way valve with micro-switch

y4 2 way emergency button valve

S flow control valve 3/4-16UNF with screw

T12DC proportional flow control valve poppet type 15I/min 315 bar + coil 12VDC ED100%

T24DC proportional flow control valve poppet type 15I/min 315 bar + coil 24VDC ED100%

hand pump 3/4-16UNF 2 cc/stroke + suction/return line pipe 1/4"BSP 370mm
closed plug 3/4-16UNF
plug 3/4-16UNF with 1/4"BSPP exit port

u

G

H

N plug 3/4-16UNF open passage with 1/4”"BSPP exit port

P plug 3/4-16UNF passing through 1/4"BSPP %
L plug 3/4-16UNF basic

J

check valve ball type 3/4-16UNF

www.hydronit.com

PPC2011/2-08




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'lit
QUICK SELECTION GUIDE

Cavity 4 option
V-CSB handwheel for CSB/CSU
EM9001C pressure gauge shut-off valve 90° F-F + nipples M 1/4” BSPP — M 1/4" BSPP
EMILO1C pressure gauge shut-off valve F-F + nipples M 1/4” BSPP — M 1/4” BSPP
F401** pressure switch 1/4” BSPP where ** = max setting pressure (050-100-200-400 bar)
MIR63**EM pressure gauge @63 where ** = max press. (60-160-250-315 bar) + shut-off valve 90°

Cavity 4 valve coil voltage

12DC_M130 Coil 12V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24DC_M130 Coil 24V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24RAC_M130 Coil 24V DC 18W ED75% for MSV30-31 + El. connector with rectifier 12-24 V
115_50AC_M130 Coil 115V/50Hz AC 28VA ED75% only for MSV30 + Electric connector DIN 43650-A
230_50AC_M130 Coil 230V/50Hz AC 28VA ED75% only for MSV30 + Electric connector DIN 43650-A
110RAC_M130 Coil 110V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 115 V
220RAC_M130 Coil 220V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 230 V
12DC_M140 Coil 12V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24DC_M140 Coil 24V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24RAC_M140 Coil 24V DC 22W ED100% for MSV-MDV + El. connector with rectifier 12-24 V
110RAC_M140 Coil 110V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 115 V
220RAC_M140 Coil 220V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 230 V

Flow restrictor in central manifold cavity 5

Flow restrictor in central manifold cavity 5
PLUGTCEO1 1/4" BSPP plug with copper washer
PP01370 suction/return line pipe 1/4"BSP 370mm
RETURN-KIT 1/4" BSP holder for SF12 + flexible plastic pipe 12 mm for return line / price per meter
C34200001 return line tank immersed filter
1(01) fixed pressure compensated flow control valve 1/4"BSP 1l/min
2(01) fixed pressure compensated flow control valve 1/4"BSP 2I/min
3(01) fixed pressure compensated flow control valve 1/4"BSP 3I/min
4(01) fixed pressure compensated flow control valve 1/4"BSP 4I/min
5(01) fixed pressure compensated flow control valve 1/4"BSP 5I/min
6(01) fixed pressure compensated flow control valve 1/4"BSP 6l/min
8(01) fixed pressure compensated flow control valve 1/4"BSP 8I/min
10(01) fixed pressure compensated flow control valve 1/4"BSP 10l/min
12(01) fixed pressure compensated flow control valve 1/4"BSP 12I/min
15(01) fixed pressure compensated flow control valve 1/4"BSP 15I/min

www.hydronit.com

PPC2011/2-09




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldl"ﬂl'lit
QUICK SELECTION GUIDE

Flow restrictor in central manifold cavity 6

Flow restrictor in central manifold cavity 6
PLUGTCEO1 1/4" BSPP plug with copper washer
PP01370 suction/return line pipe 1/4"BSP 370mm
RETURN-KIT 1/4" BSP holder for SF12 + flexible plastic pipe 12 mm for return line / price per meter
C34200001 return line tank immersed filter
1(01) fixed pressure compensated flow control valve 1/4"BSP 1l/min
2(01) fixed pressure compensated flow control valve 1/4"BSP 2I/min
3(01) fixed pressure compensated flow control valve 1/4"BSP 3I/min
4(01) fixed pressure compensated flow control valve 1/4"BSP 4I/min
5(01) fixed pressure compensated flow control valve 1/4"BSP 5I/min
6(01) fixed pressure compensated flow control valve 1/4"BSP 6l/min
8(01) fixed pressure compensated flow control valve 1/4"BSP 8I/min
10(01) fixed pressure compensated flow control valve 1/4"BSP 10l/min
12(01) fixed pressure compensated flow control valve 1/4"BSP 12I/min
15(01) fixed pressure compensated flow control valve 1/4"BSP 15I/min

Flow restrictor in central manifold cavity 7

Flow restrictor in central manifold cavity 7

0(04) closed plug for cavity 7

1(04) fixed pressure compensated flow control valve 1/4"BSP 11/min
2(04) fixed pressure compensated flow control valve 1/4"BSP 2I/min
3(04) fixed pressure compensated flow control valve 1/4"BSP 3I/min
4(04) fixed pressure compensated flow control valve 1/4"BSP 4l/min
5(04) fixed pressure compensated flow control valve 1/4"BSP 5I/min
6(04) fixed pressure compensated flow control valve 1/4"BSP 6l/min
8(04) fixed pressure compensated flow control valve 1/4"BSP 8I/min
10(04) fixed pressure compensated flow control valve 1/4"BSP 10l/min
12(04) fixed pressure compensated flow control valve 1/4"BSP 12I/min
15(04) fixed pressure compensated flow control valve 1/4"BSP 15I/min

Flow restrictor in central manifold cavity 8

Flow restrictor in central manifold cavity 8
PLUGTCEO1 1/4" BSPP plug with copper washer
PP01370 suction/return line pipe 1/4"BSP 370mm
RETURN-KIT 1/4" BSP holder for SF12 + flexible plastic pipe 12 mm for return line / price per meter
C34200001 return line tank immersed filter
1(01) fixed pressure compensated flow control valve 1/4"BSP 1l/min
2(01) fixed pressure compensated flow control valve 1/4"BSP 2I/min
3(01) fixed pressure compensated flow control valve 1/4"BSP 3I/min
4(01) fixed pressure compensated flow control valve 1/4"BSP 4I/min
5(01) fixed pressure compensated flow control valve 1/4"BSP 5I/min
6(01) fixed pressure compensated flow control valve 1/4"BSP 6l/min
8(01) fixed pressure compensated flow control valve 1/4"BSP 8I/min
10(01) fixed pressure compensated flow control valve 1/4"BSP 10l/min
12(01) fixed pressure compensated flow control valve 1/4"BSP 12I/min
15(01) fixed pressure compensated flow control valve 1/4"BSP 15I/min

www.hydronit.com

PPC2011/2-10




sales@hydronit.com * +39 0362 1841 210 )il_.]drnnit
QUICK SELECTION GUIDE

Tanks

Steel tanks
1,5A 1,5l cylindrical steel tank horizontal mounting + 1/2"BSPP std filler & breather plug
1,5AV 1,5l cylindrical steel tank vertical mounting + 1/2"BSPP std filler & breather plug
2,5A 2,5l cylindrical steel tank horizontal mounting + 1/2"BSPP std filler & breather plug
2,5AV 2,5l cylindrical steel tank vertical mounting + 1/2"BSPP std filler & breather plug
5B 51 cylindrical steel tank horizontal mounting + 1/2"BSPP std filler & breather plug
5BV 51 cylindrical steel tank vertical mounting + 1/2"BSPP std filler & breather plug
10B 10l cylindrical steel tank horizontal mounting + 1/2"BSPP std filler & breather plug
10BV 10l cylindrical steel tank vertical mounting + 1/2"BSPP std filler & breather plug
12B 12l cylindrical steel tank horizontal mounting + 1/2"BSPP std filler & breather plug
12BV 12l cylindrical steel tank vertical mounting + 1/2"BSPP std filler & breather plug
10C 10l square steel tank horizontal mounting + 1/2"BSPP std filler & breather plug
10Cv 10l square steel tank vertical mounting + 1/2"BSPP std filler & breather plug
22C 22| square steel tank horizontal mounting + 34"BSPP male filler & breather plug
22CV 22l square steel tank vertical mounting + 34"BSPP male filler & breather plug
3EV 3l vertical square steel tank vertical mounting + 1/2"BSPP std filler & breather plug
7EV 7l vertical square steel tank vertical mounting + 1/2"BSPP std filler & breather plug
8EV 8l vertical square steel tank vertical mounting + 34"BSPP male filler & breather plug
15EV 15l vertical square steel tank vertical mounting + 34"BSPP male filler & breather plug
20EV 20l vertical square steel tank vertical mounting + 34"BSPP male filler & breather plug
30EV 301 vertical square steel tank vertical mounting + 3 "BSPP male filler & breather plug
F80000001 steel tank adapter for PPC - to be welded on custom made tanks
Plastic tanks P —
1,5L 1,5l square plastic tank type L horizontal mounting + 3/4”"BSPP F filler & breather plug a-_/
1,5LV 1,5l square plastic tank type L vertical mounting + 3/4"BSPP F filler & breather plug
3L 3l square plastic tank type L horizontal mounting + 3/4”"BSPP F filler & breather plug
3LV 3l square plastic tank type L vertical mounting + 3/4”BSPP F filler & breather plug
6L 6l square plastic tank type L horizontal mounting + 3/4”"BSPP F filler & breather plug
6LV 6l square plastic tank type L vertical mounting + 3/4"BSPP F filler & breather plug ‘—d
5M 51 square plastic tank 170mm type M horizontal mounting + 3/4”"BSPP F filler & breather
5MV 51 square plastic tank 170mm type M vertical mounting + 3/4”"BSPP F filler & breather
8M 8l square plastic tank 170mm type M horizontal mounting + 3/4”"BSPP F filler & breather
8MV 8l square plastic tank 170mm type M vertical mounting + 3/4”BSPP F filler & breather
5P 51 round plastic tank for PPC @195mm horizontal mounting + 1/2"BSPP filler & breather s
5PV 51 round plastic tank for PPC @195mm vertical mounting + 1/2"BSPP filler & breather
9P 9l round plastic tank for PPC @195mm horizontal mounting + 1/2"BSPP filler & breather (
9PV 9l round plastic tank for PPC @195mm vertical mounting + 1/2"BSPP filler & breather ,
12N 121 square plastic tank 180mm type N horizontal mounting + 1/2"BSPP filler & breather
12NV 121 square plastic tank 180mm type N vertical mounting + 1/2"BSPP filler & breather

www.hydronit.com

PPC2011/2-11




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'lit
QUICK SELECTION GUIDE

Accessories

Accessories
E60543006 foot mounting support 45mm
E60543007 foot mounting support tall type (67mm)
MIR63** pressure gauge @63 where ** = max press. (60-160-250-315 bar)
EM9001C pressure gauge shut-off valve 90° F-F + nipples M 1/4” BSPP — M 1/4" BSPP
EMILO1C pressure gauge shut-off valve F-F + nipples M 1/4” BSPP — M 1/4” BSPP
F16000001 plastic @112-114 DC motor protection cover
F401%** pressure switch 1/4” BSPP where ** = max setting pressure (050-100-200-400 bar)
F4ROM3 pressure switch 1/8” BSPP 0,2-2,5bar for filter manifold E60403020
MIR4010 pressure gauge @40 10bar max for filter manifold E60403020
P0201 remote up/down control with 3m flying cable for single/double acting cylinder
P0202 remote 4 buttons control with 3m flying cable for 2 double acting cylinders
VPCO0 electronic PWM driver for proportional valves 12/24VDC
BFCSAE0801 in-line manifolds for 3/4-16UNF valves 1/4” BSPP ports
BFCSAE0802 in-line manifolds for 3/4-16UNF valves 3/8"” BSPP ports

External manifolds

External manifolds
E60403004 28mm spacer subplate
E60403005 90° rotation manifold 6 ® J
E60403001 NG6 (cetop 3) parallel block - 3/8” BSPP rear ports (9/16-18UNF for US)
E60403010 NG6 (cetop 3) parallel block - 3/8” BSPP lateral ports (9/16-18UNF for US)
E60403011 NG6 (cetop 3) series block - 3/8” BSPP lateral ports (9/16-18UNF for US)
E60413002 NG6 (cetop 3) manifold with piloted check valve on A '%’é ® .
E60413001 NG6 (cetop 3) manifold with piloted check valve on A and B T
E60413003 NG6 (cetop 3) manifold with piloted check valve on B
E60403027 modular manifold with piloted check valves on A and B
E60403028 modular manifold with check valve for differential area cylinder
E60403020 modular basic manifold for spin-on return filter on T line
PMO09 hand pump 8,8 cc/stroke — cartridge only + base modular manifold
E60403006 PPC to SD01 converter (needed to mount SDO1 stackable valves)
E60403008M PPC to PPM base converter (needed to mount SDO0 NG3 MICRO valves)
M60403010 PPM NG3 MICRO modular manifold with 1/4" BSPP lateral ports (9/16-18UNF for US)
M60403004 PPM spacer element
M60403005 PPM 90° rotation manifold
M60413002 PPM NG3 MICRO modular manifold with piloted check valves on A
M60413001 PPM NG3 MICRO modular manifold with piloted check valves on A and B
M60413003 PPM NG3 MICRO modular manifold with piloted check valves on B
E60403030 manifold for MSV or MDV 2/2 way cartridge valves
E60403031 manifold for MSV3V 3/2 way cartridge valve

www.hydronit.com

PPC2011/2-12




sales@hydronit.com - +39 0362 1841 210 )igdrﬂnlt

External valves

www.hydronit.com

External valves
MSV3V4000000 3/2 way solenoid cartridge valve, A to T de-energized %
MSV3000000 NC solenoid 2/2 way 3/4-16UNF poppet valve %
MSV30E0000 NC solenoid 2/2 way 3/4-16UNF poppet valve with emergency
MSV31E0000 NO solenoid 2/2 way 3/4-16UNF poppet valve with emergency
MDV30E0000 NC solenoid 2/2 way 3/4-16UNF double poppet valve with emergency
SDO00A11C NG3 MICRO solenoid directional valve 4 way, 2 positions
SDO00A2 NG3 MICRO solenoid directional valve 4 way, 3 pos. center Pto T
SD00B2 NG3 MICRO solenoid directional valve 4 way, 3 pos. closed center
SD00C2 NG3 MICRO solenoid directional valve 4 way, 3 pos. H center
SDOOE2 NG3 MICRO solenoid directional valve 4 way, 3 pos. center A-Bto T
SDO01A11C Stackable solenoid directional valve 4 way, 2 positions
SDO01A2 Stackable solenoid directional valve 4 way, 3 pos. center Pto T
SD01B2 Stackable solenoid directional valve 4 way, 3 pos. closed center
SD01C2 Stackable solenoid directional valve 4 way, 3 pos. H center
SDO1E2 Stackable solenoid directional valve 4 way, 3 pos. center A-Bto T
SDO01A11CC Stackable solenoid directional valve 4 way, 2 positions, stack top closed
SDO01A2C Stackable solenoid directional valve 4 way, 3 pos. center P to T, stack top closed
SD01B2C Stackable solenoid directional valve 4 way, 3 pos. closed center, stack top closed
SD01C2C Stackable solenoid directional valve 4 way, 3 pos. H center, stack top closed
SDO1E2C Stackable solenoid directional valve 4 way, 3 pos. center A-B to T, stack top closed
SD03A11C NG6 (cetop3) solenoid directional valve 4 way, 2 positions
SD03A2 NG6 (cetop3) solenoid directional valve 4 way, 3 pos. center P to T
SD03B2 NG6 (cetop3) solenoid directional valve 4 way, 3 pos. closed center
SD03C2 NG6 (cetop3) solenoid directional valve 4 way, 3 pos. H center
SDO3E2 NG6 (cetop3) solenoid directional valve 4 way, 3 pos. center A-Bto T
HDO3A1 NG6 (cetop3) manual directional valve, spring centered Pto T
HDO03A2 NG6 (cetop3) manual directional valve, spring centered closed center
HDO3A3 NG6 (cetop3) manual directional valve, spring centered H center
HDO03A10 NG6 (cetop3) manual directional valve, spring centered A-Bto T
HDO3D1 NG6 (cetop3) manual directional valve, detent, center Pto T
HDO3D2 NG6 (cetop3) manual directional valve, detent, closed center
HDO3D3 NG6 (cetop3) manual directional valve, detent, H center
HDO03D10 NG6 (cetop3) manual directional valve, detent, center A-B to T
E60423001L NG6 (cetop3) sandwich type modular valve with relief valve on A & B 60bar max
E60423001A NG6 (cetop3) sandwich type modular valve with relief valve on A & B 180bar max
E60423001B NG6 (cetop3) sandwich type modular valve with relief valve on A & B 280bar max
E60423002L NG6 (cetop3) sandwich type modular valve with relief valve on A 60bar max a: '6‘;\;\
E60423002A NG6 (cetop3) sandwich type modular valve with relief valve on A 180bar max [T .fQ’
E60423002B NG6 (cetop3) sandwich type modular valve with relief valve on A 280bar max N
E60423003L NG6 (cetop3) sandwich type modular valve with relief valve on B 60bar max
E60423003A NG6 (cetop3) sandwich type modular valve with relief valve on B 180bar max
E60423003B NG6 (cetop3) sandwich type modular valve with relief valve on B 280bar max <t .\\\\:\ﬁ
E60433001 NG6 (cetop3) sandwich type modular valve with unidirectional throttle valve on A & B Q e‘e. e
E60433002 NG6 (cetop3) sandwich type modular valve with unidirectional throttle valve on A 2 ) L} %’
E60433003 NG6 (cetop3) sandwich type modular valve with unidirectional throttle valve on B




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'lit
QUICK SELECTION GUIDE

External cartridge valves coils

12DC_M130 Coil 12V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24DC_M130 Coil 24V DC 18W ED75% for MSV30-31 + Electric connector DIN 43650-A
24RAC_M130 Coil 24V DC 18W ED75% for MSV30-31 + El. connector with rectifier 12-24 V
115_50AC_M130 Coil 115V/50Hz AC 28VA ED75% only for MSV30 + Electric connector DIN 43650-A
230_50AC_M130 Coil 230V/50Hz AC 28VA ED75% only for MSV30 + Electric connector DIN 43650-A

110RAC_M130 Coil 110V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 115 V
220RAC_M130 Coil 220V RAC 18W ED75% for MSV30-31 + El. connector with rectifier 230 V ‘
A

12DC_M140 Coil 12V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24DC_M140 Coil 24V DC 22W ED100% for MSV-MDV + Electric connector DIN 43650-A
24RAC_M140 Coil 24V DC 22W ED100% for MSV-MDV + El. connector with rectifier 12-24 V
110RAC_M140 Coil 110V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 115 V
220RAC_M140 Coil 220V RAC 22W ED100% for MSV-MDV + El. connector with rectifier 230 V

External SD0OO valves coils

12DC_M100 coil 12V DC 16W ED100% + Electric connector DIN 43650-A
24DC_M100 coil 24V DC 16W ED100% + Electric connector DIN 43650-A

External SDO1 valves coils

12DC_M120 coil 12V DC 22W ED100% + Electric connector DIN 43650-A
24DC_M120 coil 24V DC 22W ED100% + Electric connector DIN 43650-A
24RAC_M120 coil 24V DC 22W ED100% + El. conn. with rectifier 12-24 V black pgl1
220RAC_M120 coil 220V RAC 26W ED100% + El. conn. with rectifier 230 V black pg11

External SD03 valves coils

12DC_M160 coil 12V DC 26W ED100% + Electric connector DIN 43650-A
24DC_M160 coil 24V DC 26W ED100% + Electric connector DIN 43650-A
24RAC_M160 coil 24V DC 26W ED100% + El. conn. DIN 43650-A with rectifier 12-24 V black pg11
110RAC_M160 coil 110V RAC 26W ED100% + EI. conn. DIN 43650-A with rectifier 115 V black pg11
220RAC_M160 coil 220V RAC 26W ED100% + El. conn. DIN 43650-A with rectifier 230 V black pg11

www.hydronit.com

PPC2011/2-14




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION A

AC & DC ELECTRIC MOTORS

Integral AC motors: the engineered solution for compact and optimised power units from 0,25 to 4 kW, single or three
phase, 4 or 2 poles. These AC motors are directly flanged on the central manifold for extra compactness. A single tang
drive coupling can suit all frame sizes and powers.

We suggest to adopt these advanced motors because of their peculiar advantages over standard B14 AC motors and
because they are designed specifically for our mini power packs, offering an higher power density and high starting
torque (in HT models) than market standard motors. These motors are intended for intermittent duty (S3 40%), which is
the case for most mini-power packs applications. They can be used in emergency situations continuously at a reduced
rated power (30% less than S3 nominal power).

Single phase motors, due to their peculiar construction, should not run without load for long time to avoid overheating.

B14 IEC standard AC motors: the standard solution easily
available on every market from 0,25 to 7,5 kW, single or three
phase. These motors are normally procured by the customer
itself. Hydronit provides adaptor flanges and double piece
coupling for frame sizes: 71, 80, 90, 100 and 112.

Frame 151 DC motors: real heavy duty bulk

motors, with fan cooling, thermal protector Frame 114 DC motors: the most popular choice. Power up to
and running time up to 16 min or over. Power 2,1kW 12VDC and 2,2kW 24VDC. All motors have thermal
from 2,5kW 12VDC up to 4kW 24VDC. protector switch as standard.

Are AC motors compliant with the European Union Minimum Energy Performance Standards?

Hydronit AC motors are manufactured in Italy with the best technologies nowadays available and are specifically designed for mini
power packs duties, which are typically intermittent. Hydronit motors have an higher power density, lower weight, lower cost,
comparing to standard IE2 motors on the market. Due to the specific field of applications, Hydronit motors are not included in the
requirements of the above mentioned normative, since they are specially and solely manufactured for mini power packs intermittent
duties. For continuous duty applications IE2 motors (IEC 60034-30) must be applied. Ask our sales office.

Are there special requirements to mount IEC B14 motors?
No special toolings are required. Please strictly follow motor side coupling mounting dimension tolerance as per the relevant drawings.
Failing in doing so may cause malfunctioning of the power pack and even the break of the coupling and pump.

Can I start single phase AC motors under load?

Single phase motors have a reduced starting torque due to their intrinsecal design. Normally this ranges around 30-40% of the nominal
torque at full power output. When designing circuits where a single phase motor must start under load, a proper dimensioning must be
done and test on field must be preliminary performed. High starting torque «HT» motors are available. Ask our technical office.

How do I dimension a DC motor?
These motors are normally for intermittent duty. It is important to know required flow in I/min, working pressure in bar and the duty
charge. Then following A060 table instructions a proper motor/pump combination can be selected.

www.hydronit.com

PPC2011/2-A000




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION A

INTEGRAL DC MOTORS @ 80

Starting switch option 25,5 158

2,5

2 80
@ 63,45

216
6,5

. B
\Thermal protection option

Permanent magnets Rotation
Protection degree: IP54 u . . X A
Insulation class: F o I_ Weight: 2,6 kg (without starter)
Code
o PPC assembly Spare part code Nominal Nominal Nominal
Description code duty cycle speed current
150W 12V DC + thermal protector | 0,15 12DC/T M46C1STO1 S2:10min | 4400 rpm 30A
’ S3:15% ED
S2: 10 min
150W 24V DC + thermal protector 0,15 24DC/T M46C2ST01 4 Eo 1400 rpm 15A
S3:15% ED
500W 12V DC motor 0,5 12DC M46C1S005 S2: 6 min 2800 rpm 90A
’ S3:10% ED
500W 24V DC motor 0,5 24DC M46C2S005 S2: 6 min 2800 rpm 50A
’ S3:10% ED
500W 12V DC + thermal protector | 0,5 12DC/T M46C1STO05 S2: 6 min 2800 rpm 90A
’ S3:10% ED
500W 24V DC + thermal protector | 0,5 24DC/T M46C2ST05 S2: 6 min 2800 rpm 50A
S3:10% ED
800W 12V DC motor 0,8 12DC M46C1S008 S2: 3 min 4000 rpm 130 A
’ S3:10% ED
800W 24V DC motor 0,8 24DC M46C2S008 S2: 4 min 4000 rpm 80A
’ S3:10% ED
800W 12V DC + thermal protector | 0,8 12DC/T M46C1ST08 S2: 3 min 4000 rpm 130 A
S3:10% ED
800W 24V DC + thermal protector | 0,8 24DC/T M46C2ST08 S2: 4 min 4000 rpm 80A
S3:10% ED
Options & couplings
Description PPC assembly code Spare part code
12V DC 150 Amp start switch + mounting kit S150 12DC 80 | M47SC0001 + M47SK0801 | Notes: the starting
swnqh mounting kit is
24V DC 150 Amp start switch + mounting kit S$150 24DC 80 M47SC0002 + M47SK0801 | Provided when
specifying the /S150 as
Remote wired control with 2 buttons and 3m cable P0201 (single acting) motor option in PPC
assembly code.
Remote wired control with 4 buttons and 3m cable P0202 (double acting) When ordering spare
starting switches, it must
Coupling for @ 80 DC motors and gr.1 pump E36200002 be ordered separately
: (code: M47SK0801).
Coupling for @ 80 DC motors and gr.0 pump E36200006
7 The coupling is already
E36200002 — E36200006 5 64 included when
; specifying the motor in
o o ! N PPC assembly code.
N - - [ w i =) : ; indi
Y Y ] \s‘/ Itis to be |n_d|cated on_ly
= 433 : when ordering PPC with
|30 - 50 8’ - ‘ no motor but with
- 395 Weight: 0,075 kg et : = Weight: 0,063 kg coupling.

www.hydronit.com

PPC2011/2-A010




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION A

INTEGRAL DC MOTORS @ 114

Starting switch option :?

i~

ol ’

7114
2 98,4

E

]
[—
]

Compound wound

Protection degree: IP54
Insulation class: F

Weight: 7,05 kg (without starter)

Ce®

Code
o PPC assembly Spare part code Nominal Nominal Nominal
Description code duty cycle speed current
S2: 2 min
1600W 12V DC + thermal protector 1,6 12DC/T M46C1ST16 im0 2600 rpm 230A
S3:12% ED
2100W 12V DC + thermal protector| 2,1 12DC/T M46C1ST21 S2:1.2min | 5340 1pm 330 A
’ S3:7,5% ED
2200W 24V DC + thermal protector | 2,2 24DC/T M46C2ST22 33-2:1 EWTED 2600 rpm 140 A
Options & couplings
Description PPC assembly code Spare part code
12V DC 150 Amp start switch + mounting kit S$150 12DC 112 M47SC0001 + M47SK1121
24V DC 150 Amp start switch + mounting kit S$150 24DC 112 M47SC0002 + M47SK1121
Remote wired control with 2 buttons and 3m cable P0201 (single acting)
Remote wired control with 4 buttons and 3m cable P0202 (double acting)
DC motor plastic cover F16000001
Coupling for @114 motors - @125 DC motors and gr.1 pump E36200001
Coupling for @114 motors and gr.0 pump E36200005

Notes: the starting switch mounting kit is provided when specifying the /S150 as motor option in PPC assembly code.
When ordering spare starting switches, it must be ordered separately (code: M47SK1121).

The coupling is already included when specifying the motor in PPC assembly code.
It is to be indicated only when ordering PPC with no motor but with coupling.

Motor plastic cover F16000001 Coupling E§6200005 Coupling 536200001
127
—©)
! 3
29
SFE
* o
I
| pid
180 pid
14|

Weight: 0,27 kg

Weight: 0,094 kg

www.hydronit.com

PPC2011/2-A020




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION A

FAN COOLED INTEGRAL DC MOTORS @ 125

—»#
o
_ S ) OO
i o OO
O 2 OO0l L
S g s ool || - f
8 9 00 o)
- =
Compound wound 8 8 8 o
Protection degree: IP20 -=-o o0
Insulation class: F ==
Weight: 11kg |
_ 237 o 2110
c € Rotation
Code
o PPC Spare part Nominal | Nominal [Nominal
Description assembly code code duty cycle speed |current
2400W 12V DC motor with thermal protection & fan 2,412DCIT | M46C1ST24 gg ‘;";LZ ED | 3400 pm| 290 A
3000W 24 V DC motor with thermal protection & fan 324DCIT M46C2ST30 gg ‘;n;l,? ED 3500 rpm| 170 A
., 07
Options & couplings
Description PPC assembly code Spare part code
12V DC 200 Amp start switch + mounting kit S200 12DC M47SC0001
24V DC 150 Amp start switch + mounting kit S00 24DC M47SC0002
Remote wired control with 2 buttons and 3m cable P0201 (single acting)
Remote wired control with 4 buttons and 3m cable P0202 (double acting)
Coupling for @114 motors - @125 DC motors and gr.1 pump E36200001

The coupling is already included when specifying the motor in PPC assembly code.
It is to be indicated only when ordering PPC with no motor but with coupling.

Coupling E36200001

10,5 7

5,5 43,5

- Weight: 0,093 kg

www.hydronit.com

PPC2011/2-A030




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION A

HEAVY DUTY DC MOTORS @ 151 WITH FAN COOLING

@&
J

46
o7

2151
2162

@151
H

S
\.

Series wound

Protection degree: IP20 Front attachment: 51 316
Insulation class: F IEC B14-90 | - Fotati
Weight: 21,5 k otation
cg € o X
Code
- PPC Spare part | Nominal |Nominal| Nominal | Mounting
Description code code duty cycle| speed | current kit

2500W 12V DC motor + thermal protection & fan |2,5HD 12DC/T|MB14C1ST25 | S2: 16min [1700 rpm| 290 A | XB1490

3000W 24V DC motor + thermal protection & fan | 3HD 24DC/T |MB14C2ST30|S2: 16min [1700 rpm| 170A | XB1490

4000W 24V DC motor + thermal protection & fan | 4HD 24DC/T |MB14C2ST40 | S2: 10min [2000 rpm| 240A | XB1490

Options
s PPC
Description assembly code Spare part code
: : S200 12DC M472C0001 (12 V DC)
Starting switch 200A 12 or 24V DC S200 24DC M47ZC0002 (24 V DC)
Remote wired control with two/four buttons P0201 P0201 (single acting)
and 3m cable P0202 P0202 (double acting)

The mounting kit is already included when specifying the motor in PPC assembly code.
When ordering spare part motors, the mounting kit must be ordered separately.

Other B14 DC motors for heavy duty or special applications
They are available with @125, @151 or @191 in multiple executions, engineered to perform heavy duty cycles and tailor made
to suit each specific application, with or without fan cooling or thermal protection. They are mounted on the central manifold with

B14 standard mounting kits.
To properly choose these motors, following minimum information must be provided: 1) motor power and voltage, 2) application

type, 3) duty factors: S2 [min] - continuous running time and S3 [%] - percentage of running time on total cycle time, 4) required
motor speed, 5) quantity to be supplied.

Some examples:

Cod. MB14M1S010: 1000W 12V DC frame 80 B14 motor Cod. MB14M2S020: 2000W 24V DC frame 80 B14 motor
42
%% )
| x|l -E
| i AN .
& o B o o [\ &
S R YR 4
B y ® h T
40 | i
40 | 279 -

www.hydronit.com

PPC2011/2-A040




sales@hydronit.com - +39 0362 1841 210 )il_.ldrﬂl'lit
SECTION A

DC MOTORS OPTIONS

Remote control P0201 Remote control P0202
for one single or double acting cylinder for two double acting cylinders

Weight: 0,58 kg Weight: 0,60 kg
Protection degree: IP65 Protection degree: IP65

d
5
-%

LTI AN [H 7
[ 2y |
C D 3
(o) * IO
Q L2
- (Al |
60
Spare part code Spare part code
P0201 P0202
Electric connection schemes + 1 T +
\
A
+ + L
- } T> - S e i- _________ ____________ . _: to Remote control P0201
+| - Single acting cylinder ! |

A + +

N + ) L L )

Starting switch Direstional
Irectiona;

B D TP P PP P e Vi valve (a
: second
directional
valve for
left/right
movement can
be attached)

Starting switch / :

; 77 I :
Double acting cylinder : \—W :

Remote control P0201 (2 buttons)
for one double acting cylinder
or P0202 (4 buttons)

for two double acting cylinders

www.hydronit.com

PPC2011/2-A050




sales@hydronit.com - +39 0362 1841 210 )il_.ldrﬂl'lit
SECTION A

DC MOTORS CHOICE AND ELECTRIC CONNECTION SCHEMES

DC motors choice

Once required pressure and flow and available voltage (12 or 24V DC) are known, you can select the motor checking on
each provided diagram if a pump displacement is available at the intersection of pressure and flow values. On the

relevant “I” curve you obtain the absorbed current. When the intersection point is not exactly on a pump curve, choose the
closer pump.

On the right hand diagram, from the current value, you can easily obtain the maximum allowed S2 (min) and S3 (%) values.
S2 gives the allowable motor continuous running time in minutes, S3 gives the allowable running time in % of the

total cycle.

If obtained S2 and S3 values are not enough for required duty cycle, choose a bigger motor and repeat the calculation on
the new motor curves.

Example:

For our application we have following data:

flow = 3 I/min, max pressure = 100 bar, not clearly defined duty cycle.

-We check on 1,6 Kw 12V DC motor diagram and see there is a pump available.

-We choose from curves 1,3 pump: a 1,3 cm’/rev pump. On the corresponding “I” curve we read 125 A absorbed current.
In these conditions on the S2 / S3 diagram we read that the DC motor can work for maximum 7 min (S2), that

is 17% (S3) of the total cycle, i.e. after 7 min working, the motor should cool down for at least 34 min.

-The total cycle time is calculated adding the working time and the idle time (17% working time plus 83% idle time),

in this case 41 min. If this duty cycle is not adequate for our application, we must choose a higher power DC motor and
check the relevant diagram again.

=12 240
5 N 1600 W 12V \\
=11 \m;' 220
¢] » e \ S3
10 \ PN AR 200 - \
9 A 180
\ R NN \(\'\5\‘ A \\
8 L2 LA DA (SO S i 160 \
> v . . b S RNCY: \
\vj \" " 0" l" "’;"' ‘ \Qk"‘ \\
7 e e EA 140 \
6 \', . "\ e Lt Sa— 120 \
XN N
5 57" ’\\",: P 100 B
QSIS N
R W N
BRI o M et S s UG 60
£e” T ——"——__ 11| o9 <
2 40 =
0 25 50 75 100 125 150 175 200 zi(.o”/““)? 4 6 281 10 12
P (bar) i (%) 4 8 12 160 20 24
M46C1ST01 150 W 12V o M46C2ST01 150 W 24V 1A
4 100 6 70
N2 S 90 v
> SS e K2 % e W
N ’ . & ®, r8o \\ : S \@?, \\
‘9\ R o 70 AN of. [ %0 \
L NeNCNG N \g L Yadli . N\
N ‘ 2 hd " 50 \ L . 3 0' 0' " ha \
XS . | ANG .. - e k30 s
S R gt \
>\:< I 30 N R T 0s I-20
I::” — 92 Lo ~ _ }_\:‘\‘\\_ 04
205 §1 P- I 22 o
£0. 10 £
5 o
% "ttt 0 - 04— 0
0 5 100 150 200 250 300 W3 6 9 12 15 18 0 50 100 150 200 250 300 Samin) 36 9 12 15 18
. 5 B 16 24 32 40 48 s3%) B 16 24 32 4o 48
(bar) P (bar)

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 40°C

www.hydronit.com

PPC2011/2-A060




Hydronit
SECTION A

sales@hydronit.com - +39 0362 1841 210

DC MOTORS DIAGRAMS

M46C1S005 500 W 12V 1(A) M46C2S005 500 W 24V 1A
4 100 6 70
35N> S & % \G B S 60
N !
N Q“_?\' Lgo 5 S > &7 \\
, 0SS », . . N @@o
’ ‘9\ RS e N t70 R A B » 50
r ’ v ¢
AR \': , L’ &% v 2N :c \!
258 . . B\ oo K \ A ¢ .
\\’\\ L’ R \\\ \%\ N - o+ 40 \
. 4 ’ ’ 4 - P
N N . ',' 50 \ 3 > A . _ \\\ -
N | . \SS \. 3 Pad it
NG - . Lo N N '\0\~'¢ - 30 s \\
NS " s2 R v
y ',.’\,\ N\ PSS ~
S —~— 04 F30 N ‘ - P 20
AR —24 S
::, —— 02 L2o ~ - LS . 04
§ - [
Eo,g 10 £F L] 10
E a
° ——tr—t—t——t—t—10 S2(min) 0 T 0 S2min) 3 5 9 2 15 18
0 50 100 150 200 250 300 308 3 6 9 12 15 ‘ﬂz 0 0 100 150 200 300 s3) 5 o 24 % 4o s
P (bar) 8 16 3o \6 P (bar) 0
M46C1S008 800 W 12V 1(A) M46C2S008 800 W 24V 1A
12 180 12 80
N F160 7
)
10 e \ 10 2
> 1140 . ‘i
Ve 3 - 60
AR . R \q?}'
Gt 0 e "
B R RSRZRRS] S 120 R I B .7 L
X Je Sl P \§‘rp 100 \ 6 \Q ’ l ‘ "' \
N - 4 T - 40
b '\\'\'. . b leo \ \\ R e \
J, e P4 " L
) N T’ L4 . \S3 . e . 30 \ \\S3
b \x-'_'qs <) r \Q 0s
> B < , 20
N T 0s 140 \ \\ &\‘ 0.6 \ \
T o e 0| ~ 2 N A
2¢ —0d g25% o7 s2 N AN
£ < 2 | N N EF T~ o L 10 q .
] 5 \
[ I B o T B e LA S e o e ) s2(min) e - N
00 D T S e e A 0 50 100 150 200 250 300 Samin) 2 4 6 8 10 12
P (bar) 4 8 12 16 20 24 P(bar)\ S3(%) 4 8 12 16 20 24
; QQ
M46C1S016 1600 W 12V \g C2S022 2200 W 24V
1(A) 1(A)
1 300 160
N A N
O 2 4 2 o & 140 \\
LA F 250 RN
RISHNA ) D 6P SRS o |
) > 7 a2 A \§ o4 ’ N ®
AR ‘. VRN N SNNNL AL T WY e 1120 S3
A \,'\4 BRIV A 10 A
AR et 200 9\\< \" P PP AN SQ\\
’ 4 4 ‘ 7 -, 4 r S
. e r o . 100
> . 8 RN =
) Tl . L -
6 - 150 . . . 180
b ,')' ""',’ \'S(', ~ /"\\_. \\
"o e PN N .’\Q \\
4 LaRd * - — |
AN F100 oSl TS ” \\\
UL 1.6 AN - 1.6 N
o - 1PN SN
RN S~ SN ——_ 13 4o
5 :?\\\ﬁ 50 NS r ~~— — "
E ¢ N~ r 2
= — 11 c 20
<] — 09 E 00
O e O - B T B L O A B o e -
0 50 100 150 200 250 300 Somin)2 4 6 8 10 12 0 100 1 200 300 S2min) 25 5 75 10 125 15
P (bar) S3(%) 4 8 12 16 20 24 P (bar) S3(%) 4 8 12 16 20 24

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 35°C

www.hydronit.com

PPC2011/2-A070




sales@hydronit.com - +39 0362 1841 210 )’l_.ldrﬂnit
SECTION A

DC MOTORS DIAGRAMS

M46C1ST21 2100 W 12V (s M46C1ST24 2400 W 12V 1
125g5 360 \\ < 300
)
I 300 \ S3 3 250
. \ \\
L 240 \ 200 \
6 180 L150 \\
\ \¢
F120 \ 100 s2 \\\
¢ N "N
3 ":;\\\\\' N ] 06 \\
g g’ — ba k60 ~ . = 50
= £
° S|
P .
0 50 100 150 200 250 300 0 50 100 150 200 250 :23(3;') 2 ?2 11 2‘142 ;,‘2 ;,‘2
P (bar)
M46C2ST30 3000 W 24V A . MB14C1ST25 2500 W 12V HD '®
T dadsed - I\ o S ol ade e
N2 N I\ E N A2 Al
AL c Lt 160 - 250 n

. ' RO
20 &g . s " < "/,' L) ',”/ ’§.
. r,. |’ . L’ PR AR A . s3
P . L 140 A P RN R
‘ d v -
\ \\’, 2L b
% \ s . \
¢ .’ t 100 6 e 150
B 3
IR N R
10 -he N 3, 80 N r
R \\w r,:o\\\ Y" 100 \\\
St Ny b o - \ ﬁ ANRN

. Pid —— 16 w© AN , \\\ . N
£ =
£ k20 £ 8
o <]
04—t 0 S2(mi L e e e e
0 100 150 200 250 (‘:mn)‘z 4 6 8 10 12 0 50 100 150 200 250 300 S2(min)5 10 15 20 25 30
P (ban) s3%) 4 & 12 16 20 24 K S3%) 20 25 30 35 40 45
X OQ
MB14C2ST30 3000 W 24V HD 1) \ MB14C2ST40 4000 W 24V HD ()
20 . — 180 0 300
. S & I o N
18X L e TS 160 18

250

4 140

120

5
9
¥
9
2
'«9
M
[
- 7
/\@)
s 2

12-N\ \\'>i :' ::’ e [ \\S3
s 4.0,

10 \\\\:\&\;{ -’ 150 \\

o SR AN

~100

> § \ BT ’,\’\ AN
. ,‘,23 y \\4237 60 . ,',',",':","' \Q” 100 \\
ts- [ 22| 26 |40 \\ P % —"s
4 PR A
£ N i F50
£ L 20 E, ¢
o (&)
(O e LA A o e - O o L ML B e o o -
0 50 100 150 200 250 300 Somin)5 10 15 20 25 30 0 50 100 150 200 250 300 S2min) 5 10 15 20 25 30
P (bar) S3%) & 16 24 32 40 48 P (bar) S3(%) 6 12 18 24 30 36

Tests made with rectified current supplied at nominal motor voltage (measured at the motor connection terminals) and oil ISO VG46 at 35°C

www.hydronit.com

PPC2011/2-A080




sales@hydronit.com - +39 0362 1841 210 )’l_.ldrﬂnit
SECTION A

INTEGRAL AC MOTORS

Integral motors: single phase or three phase in frame 71, 80 and 90, with
square flange for direct connection to PPC central manifold and tang drive
shaft. A single coupling fits all dimensions. High starting torque single phase
«HT» executions available.

q

Single phase
motors electric

24226,72~84 . 35~42 _ 72~84 _
ﬁ.FJ L 4 holes @9 on 8166 .65 L
Drawings show : /’ﬂ“\ ; iam .
typical three 23 B O E (7
phase motors. %y{@ A I O O

have different © N\ ! T L
wiring box 2 = mrEa. | e—— =
(including - 1
capacitors). d L <
o} 9 S ] L
RENSgRS = =
- 138 29,6 - L -
B

Protection degree: IP54
Insulation class: F

A single coupling can be applied on all motor frame sizes. This is the

PPC motor assembly code same coupling (pump side) included in B14 motors mounting kit.
The coupling is already included when specifying an integral AC motor in
E AC integral motor the PPC assembly code. When ordering spare motors, the coupling is not
included and must be ordered separately.
Maximum Power [kW] N N
i.e. 150 = 1,5kW Coupling spare part code | | | Coupling spare part code
Alternate current E36100000 for Gr.1 pumps || E36100006 for Gr.0 pumps
E Phase: 3 = three phase
S = single phase 44 T 55
|I'7 Poles: 4 = four poles - 8 -
2 = two poles ] N
E Frame size: 1 =71 ol YL . ,,_DV 0 5 / 1 \
2=80 N‘ i "\ NI
Type of Duty: S3 = intermittent duty 20,1 436:; -
HT = high torque - - 903
<245
Weight: 0,046 Kg Weight: 0,040 kg

See a table of available codes on next table page

PPC2011/2-A090




sales@hydronit.com -

SECTION A

+39 0362 1841 210

INTEGRAL AC MOTORS

Three-phase 4 poles (~1450 rpm at 50Hz)

Hydronit

Frame size Max(iglsuza;)c))wer Spare motor code | G A B C L tha(igght
0,37kW (0,5HP) E037AC341S3 17 138 180 210 5,5
71 0,55kW (0,75HP) E055AC341S3 17 138 180 210 5,5
0,75kW (1HP) E075AC341S3 17 138 180 210 5,6
80 0,75kW (1HP) E075AC342S3 19 156 202 234 10
1,1kW (1,5HP) E110AC342S3 19 156 202 234 10,5
1,5kW (2HP) E150AC343S3 24 176 217 279 14
90 2,2kW (3HP) E220AC343S3 24 176 217 279 15
3kW (4HP) E300AC343S3 24 176 217 279 16
Three-phase 2 poles (~2900 rpm at 50Hz)
Frame size Max(iglsuza;)c))wer Spare motor code | G A B Cc L tha(igght
7 0,55kW (0,75HP) E055AC321S3 17 138 180 210 5
0,75kW (1HP) E075AC321S3 17 138 180 210 5
1,1kW (1,5HP) E110AC322S3 19 156 202 234 10
80 1,5kW (2HP) E150AC322S3 19 156 202 234 11
2,2kW (3HP) E220AC322S3 19 156 202 234 12
9 3kW (4HP) E300AC323S3 24 176 217 279 16
4kW (5HP) E400AC323S3 24 176 217 279 16
Single-phase 4 poles (~1450 rpm at 50Hz)
Frame size Max(iglsuza;)c))wer Spare motor code | G A B C L tha(igght
7 0,37kW (0,5HP) E037ACS41S3 17 138 180 210 6,5
0,55kW (0,75HP) E055ACS41S3 17 138 180 210 7,2
80 0,55kW (0,75HP) E055ACS42S3* 19 156 202 234 8
0,75kW (1HP) E075ACS42S3* 19 156 202 234 10
1,1kW (1,5HP) E110ACS43S3* 24 176 217 279 13
90 1,5kW (2HP) E150ACS43S3* 24 176 217 279 15
2,2kW (3HP) E220ACS43S3* 24 176 217 279 15,5
Single-phase 2 poles (~2900 rpm at 50Hz)
Frame size Max(iglsuza;)c))wer Spare motor code | FA B C L tha(igght
7 0,55kW (0,75HP) E055ACS21S3 17 138 180 210 6
0,75kW (1HP) E075ACS21S3 17 138 180 210 6,5
0,75kW (1HP) E075ACS22S3 19 156 202 234 8
80 1,17kW (1,5HP) E110ACS22S3 19 156 202 234 10
1,5kW (2HP) E150ACS22S3 19 156 202 234 11
9 1,5kW (2HP) E150ACS23S3 24 176 217 279 12
2,2kW (3HP) E220ACS23S3 24 176 217 279 15

Other power / frame sizes and special motor types are available on request. Standard motors are for intermittent duty: S3 40% duty cycle
means up to 6 switching on and off in an hour, i.e. the motors is ON for 4 min. and OFF for 6 min. They can be used in emergency situations
continuously at a reduced rated power (30% less than S3 nominal power). «<HT» option: available for motor spare codes marked with *.

www.hydronit.com

PPC2011/2-A100




sales@hydronit.com - +39 0362 1841 210

B14 IEC AC MOTORS

Hydronit
SECTION A

B14 IEC motors: for market compatibility, any IEC standard B14 AC motor
with frame 71, 80, 90 or 100/112 can be mounted. In this case two-pieces
couplings and additional adaptor flanges as per next pages tables A120,
A130, A140, A150 must be mounted.

q

G‘ [ 1
©) — 5
"
<| | | —————— T |
Q
L
L
LT — E
<i>'

Motors overall dimensions are not indicated since they can vary substantially depending on the motor brand

B14 standard dimensions

FRAMESIZE | power range oA B ac P E F G o Mo
71 Py 14j6 | 30 70 | 8 | Me 16 | 30 5 | xB1a71
80 598 s 1956 | 40 80 | 100 | Me 215 | 40 6 | xB1480
90 L 24j6 | 50 95 | 115 | M8 27 50 8 | xB1490
100/112 227 loxy 286 | 60 10 | 130 | M8 31 60 8 | xB14100

PPC B14 motor assembly code

y Power [kW]

AC Alternate current

Phase: 3 = three phase
S = single phase
Poles: 4 = four poles
2 = two poles
Frame size: 1 =71
2=80
3=90
4 =100
5=112
Duty factor: - = ED 100% (S1)
S$3 = intermittent duty

S

www.hydronit.com

Mounting kits spare parts

The B14 mounting kits are made of:

- a semi-coupling E36100000 (the same used for
integral AC motors) on pump shaft side

- a semi-coupling on motor shaft side, which is
different for any frame size

- an adaptor flange to suit the central manifold, which
is also different for any frame size.

The mounting kit is already included when specifying
a B14 AC motor in PPC assembly code. When
ordering spare motors, the relevant mounting kit is
not included and must be ordered separately.

PPC2011/2-A110




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION A

MOUNTING KIT FOR FRAME 71 B14 IEC MOTORS

30,3-0,2
§ S~— ]'—‘
N 14 - q} — % ffff | I R EEE -
= [N
Kit weight: 0,32 K < = =~
I Welg - U, g e — § O —
[
30
Adaptor flange Coupling
Pump group 1 side E36100000
_ 20 ~ - ? -
96 | ‘ - m“
| | g‘ N
Yoo ’ Yz 1 Y
% < \
1) < 20
o < ‘9 o
®o = - <[ 1T § Pump group 0 side E36100006
-~ Q 5
|1 o) .
7 0
- : U 2 o
© 8
|
‘ |
5
Weight: 0,18 Kg o Motor‘side
i i
PPC ‘ =
Description assembly code* Spare part code
B14 71 motor side semi-coupling E36100001 :
<
B14 pump side semi-coupling XB1471 :2 gg:?; Egg:ggggg
B14 71 adaptor flange F27010001 ‘
* Note: the coupling+ flange kit is already included when specifying a B14 motor in 14
PPC assembly code. XB14-71 code to be indicated only when ordering PPC with -
no motor but with coupling + flange kit. 24

Attention! When assembling frame 71 B14 motors with X-B14 flange + couplings kit, please respect positioning
tolerances as per top drawing. Failing to do so can cause malfunctioning or components failure.

www.hydronit.com

PPC2011/2-A120




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION A

MOUNTING KIT FOR FRAME 80 B14 IEC MOTORS

30,3-0,2
E\_ = P
——————————R B - %,, - - -
= [N 43 ﬁ
Kit weight: 0,36 K | — =
itweight: U, g — 8 O —
40
Adaptor flange Coupling
Pump group 1 side E36100000
22 ~ -
— - - | ?
96 | Y
PRSI
’ ‘ | Ry
] - | | |
i @: | ‘ !
1 1 < ‘
o X S 9
© i Q 1 Q Pump group 0 s5ide E36100006
| | 7" t‘l:’, \ i
1 Ly |
. - 2.
R
i ‘
Motor side
Weight: 0,21 Kg
! ool
- PPC e — —
Description assembly code* Spare part code ! N
o ‘
B14 80 motor side semi-coupling E36100002 ;' ! %
B14 pump side semi-coupling XB1480 :2 gg:?; Egg:ggggg . @ )
B14 80 adaptor flange F27010002 | \ |
* Note: the coupling+ flange kit is already included when specifying a B14 motor in 218
PPC assembly code. XB14-80 code to be indicated only when ordering PPC with ~- ’
no motor but with coupling + flange kit. @30

Attention! When assembling frame 80 B14 motors with X-B14 flange + couplings kit, please respect positioning
tolerances as per top drawing. Failing to do so can cause malfunctioning or components failure.

www.hydronit.com

PPC2011/2-A130




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION A

MOUNTING KIT FOR FRAME 90 B14 IEC MOTORS

30,3 -0,2
Byl
| o
— 4B
)

e —U=

224

514
Adaptor flange Coupling
o Pump side
54
'\ - il
y
- | I
M -~
i 1 ‘ ol 9
\ N
\ ; \ N'
< ‘
IS =N (| 4
v S | < 20
| w
|-
- :
f [——1

. ©
Weight: 0,35 Kg 2

Description ass enbel,g code* Spare part code |
B14 90 motor side semi-coupling E36100003 213 -
B14 pump side semi-coupling XB1490 E36100000 - 238 -
B14 90 adaptor flange F27010003
Motor side

* Note: the coupling+ flange kit is already included when specifying a B14 motor in
PPC assembly code. XB14-90 code to be indicated only when ordering PPC with
no motor but with coupling + flange kit.

Attention! When assembling frame 90 B14 motors with X-B14 flange + couplings kit, please respect positioning
tolerances as per top drawing. Failing to do so can cause malfunctioning or components failure.

www.hydronit.com

PPC2011/2-A140




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION A

MOUNTING KIT FOR FRAME 100/112 B14 IEC MOTORS

33;3 —‘,2
— U,
<ﬁ
Oéz 5
e—1 ) 4} I _.h_ —
 —
T
Kit weight: 0,99 Kg — | S =
=1 =
60
Adaptor flange Coupling
Pump side
- 98 5
~ - et
\
i - 7 [
1 ] ~
[y iy
| DU
| |
< ‘ !
. o o
8 = 1] S < 1
T S S < . 20 _
|
\ : % '
6,4 .
©
©
Weight: 0,66 Kg
. PPC ‘
Description assembly code* Spare part code '
B14 100 motor side semi-coupling E36100004
31,3 |
B14 pump side semi-coupling XB14100 E36100000 - -
@40
B14 100 adaptor flange F27010004 - =
* Note: the coupling+ flange kit is already included when specifying a B14 motor in Motor side
PPC assembly code. XB14-100 code to be indicated only when ordering PPC with
no motor but with coupling + flange kit.

Attention! When assembling frame 100/112 B14 motors with X-B14 flange + couplings kit, please respect positioning
tolerances as per top drawing. Failing to do so can cause malfunctioning or components failure.

www.hydronit.com

PPC2011/2-A150




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION A

NEMA 56C AC MOTORS

Nema motors: for market compatibility, any Nema 56C face standard AC
motor can be mounted. These motors are normally procured by the customer
itself. In this case Hydronit can supply a two-pieces coupling and additional
adaptor flange as per next page table A170.

B 337 (13,25) .
52,3 (2,06)
4,8 (0,19) K
35 ((1 ,38))Lo?1{;
2} 3 ¢ / 8 g
= - = A
© @ -
e ‘ . ShT 8
) ° ° g ‘9‘ |
) 4 Hol
r N 3/8-16 UNF
| on @149,3 (5,88)
Motors overall dimensions are not indicative since they can vary substantially depending on the motor brand
Motor Typical power| Pump |PPC mounting kit e
attachment range group code Spare part code Description
E36156C01 Nema 56C face motor side semi-coupling
0 XNEM-56-0 E36100006 gr.0 pump semi-coupling
F270656C01 Nema 56C face adaptor flange
56C 0,18 ~ 1,5 kW
0,25~2,0HP . . .
E36156C01 Nema 56C face motor side semi-coupling
1 XNEM-56-1 E36100000 gr.1 pump semi-coupling
F270656C01 Nema 56C face adaptor flange

www.hydronit.com

PPC2011/2-A160




Hydronit
SECTION A

sales@hydronit.com - +39 0362 1841 210

MOUNTING KIT FOR NEMA 56C AC MOTORS

30,320,2 (1,1920,01)

L i T
> T I
S i
Kit weight: 0,54 (1,2 Ibs) - j\}_o :i 4@
/_j i

916,9/(0.66)

Adaptor flange Coupling
N} .
S 5(02) Pump gr. 1 side
N ‘ E36100000
10,5 (0,41) | R ol
221,28 | e
29,5 (0,37) | oY &
T : N'
] ] ] =) 20 (0,79))
<
<
@ ) < ] 5(0,2)  Pump gr. O side
S 2 . @ NJ = E36100006
NS T 2 ‘
E - - = of 4
~ Q Q | T g' g
Q N Il g
| \ | S =
e i - @
[te} oy ©
7 FSELE
17,4 (4,62) | 15(5.9)
Weight: 0,35kg (0,77 Ibs) I [ ; I 1 ; 1
o PPC ,u\’?
Description assembly code* Spare part code <
) L ©
Nema 56C motor side semi-coupling E36156C01 g' ;=
-0 (gr.0 pumps - -
Nema 56C pump side semi-coupling | X56 1 ggm gumgs; Egg}ggggg ‘
Nema 56C 90 adaptor flange F27056C01 ; \

* Note: the coupling+ flange kit is already included when specifying a Nema ‘
56C motor in PPC assembly code. Nema 56C code to be indicated only 2187 (0:6£
when ordering PPC with no motor but with coupling + flange kit.

__ ©27,5(1,08)

Motor side

Attention! When assembling Nema 56C-face motors with XB56C-1 flange + couplings kit, please respect positioning
tolerances as per top drawing. Failing to do so can cause malfunctioning or components failure.

www.hydronit.com

PPC2011/2-A170




sales@hydronit.com - +39 0362 1841 210 )il_.ldrﬂl'lit
SECTION B

UNIVERSAL CENTRAL MANIFOLD

A single universal die-cast aluminium central manifold
in 4 different executions is the core part to realize all
power units in industrial, mobile and marine fields. It

features the highest integration and flexibility on the The interface to hose fittings
market, with up to nine devices which can be fitted or external additional

inside, plus a wide selction of manifold blocks which manifolds is unified. The P
can be connected externally to suit spool or cartridge and T ports threads for the
type valves hose fittings direct connection

are 1/4" BSPP (International
standard) or 9/16-18UNF
(SAEQ6) for the American
standard execution.

The interfaces to tanks and
motors are unified. All plastic
or steel tanks have same
interface and can be easily
swapped.

All AC or DC motors can be
fitted easily either directly to
the central manifold or through
adaptor flanges (B14 IEC
standard motors)

Lateral cavities are according
SAEO8 standard (3/4-16UNF),
except for the main relief
valve one which is M20x1,5

Maximum flow is 25 I/min,
with a low pressure drop, and
maximum motor power is
7,5kW, well above the
average of other alternative
products on the market

Clockwise (our standard) or counterclockwise tang drive
shaft standard gear pumps can be mounted.
Double pump, also with HI-LO circuit, are available too.

Which universal central manifold execution should I choose?

UA type is the most widely applied for single acting or double acting circuits. UB is the real «Universal» central manifold since adds to
UA type features two extra lateral cavities to mount, for example, an integrated emergency hand pump and an externally adjustable
flow control. U4 is recommended for compact and cost effective double acting circuits with a single cylinder while UR is for bidirectional
pumps.

Do I need special tools to assemble the components within the central manifold?
No. All valves are screw-in type in a single piece construction (no loose nuts, washers, springs,... difficult to assemble and falling apart).
The components are easily assemblable with simple hand tools and hexagon keys.

Is the central manifold available as loose component?

Yes. We can supply either fully assembled and tested power packs or kits of loose components, which can be kept in stock by our
worldwide distributors and easily assembled to satisfy local market demand quickly and effectively. Central manifolds and other
components are 100% tested even when supplied as loose parts.

www.hydronit.com

PPC2011/2-B000




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION B

UNIVERSAL CENTRAL MANIFOLD «UA» EXECUTION VALVE COMBINATIONS

5 — = I *
t s (-

7 - ——+ vsco4 | diidly | *
/ﬂ [

9 | Optiomal | | vusaot | MM | gyy

Start-up valve

EM CMO04M -

CMo04 -

PMCO02 -

CcsB

CPE

Modular manifolds
(See section F)

MDV30E

= [

MSV31E [ —

MSV30 |-

MSV30E

SRR L

CSPC15 [ —

E70100005

E70100004

E70100006

m@» 7777777 E70100010| fi - |XxP
VMDC35 % Dr

E70100003

E70100002

s

Vvuc20

Vvuc20

CsB

www.hydronit.com
PPC2011/2-B010

r




-
sales@hydronit.com * +39 0362 1841 210 )il_.]drtlnlt

SECTION B

UNIVERSAL CENTRAL MANIFOLD «U4» EXECUTION VALVE COMBINATIONS

—_— |'
8 ﬁ 77777 VSCo1 A@r *

9 | Optiomal | | vueaot|F T | gyy

Start-up valve

Modular manifold with check valves
(See section F)

<‘ ‘ T Dha
a Al o iiG - —f T . ——
3| MSV4V Y RS ‘ ‘ N E = g %%T R
I  — .
! ] I

H[EB[E, 7777777 E7o100010| fi i} |xP
VMDC35 J‘g: Dr

J | WO— | vucz2o

S| >&| csB -

www.hydronit.com
PPC2011/2-B020



-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION B

UNIVERSAL CENTRAL MANIFOLD «UB>» AND «UR» EXECUTION VALVE COMBINATIONS

5 — .
e o s SRl AL
8 L= i
cMo4
E Vi . //1 :
i = | i *
u [§=f PMC02 7 ﬁ/a B . vsco4 o
77
S %% csB Optional A
9 1+.—-—--—- I vuBAo1 | suv
Start-up valve |V
z fﬁ}]@ CPE
D |[$[8}w MDV30E | vmPC2 % P/*
Modular manifolds —-
C |-afT%}| MSV31E (So6 socton ) css | SAL s
A E.j}]}]m MSV30
CPE ﬂ?]}}!) z
B Hﬂ}]}]w MSV30E
E70100005 JEI} G
T n‘z@]ﬂw CSPC15
E70100004 «3]» L
G {I} E70100005
E70100003 H
L E70100004
E70100002 N
H E70100003
<§EL MDV30E [W{8[$ly D
N E70100002 |
VMDC20 V/*
P % E70100006
VFC6 %%T R
J | MWO— | vucz2o
|
EM\:[{B_}%- CMO04M |
|
I
|
E |HIlg cMmo4 L e A A R RS | I i B E7o100010| fi - |xP
|
u C?J PMCo02 ! =1 vmDC3s ‘Lg D
|
I
S % CcSB 1 Hydraulic scheme
1 UR type
|
I
z G@:& CPE :
I
|
|
D ﬁ}]}ﬂw MDV30E |
. .
C |aé$v| Msv3iE | ;
| |
A |33} MSV30 | |
| I
| |
| I
L R 1 BR type is for reversible pumps. See
MSV30E a yp pump
B o section U040.20.21

www.hydronit.com
PPC2011/2-B030



sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION B

UNIVERSAL CENTRAL MANIFOLD OVERALL DIMENSIONS

Type | Spare part code g o 123 (450
UA E60104020 3 |
uB E60104021 443 ! : '
u4 E60104022 SRR }U@L——J; @ﬁj 5
UR E60104023 ’ i — s
82(3,23)
UAUS | E60104020US 98,4 (3.67)
UBUS | E60104021US 21104.33) _
Weight: 1,1 kg (2,42 Ib)
U4US | E60104022US
URUS | E60104023US
Type UB™ only Tank side view 255 (
Notes: - ‘ -
- codes ending with US are N "
intended for the American _ @ =
market and are machined § R \ gl ? ,2 9
with 9/16-18 UNF (SAE06) g r SR W | ony Crevme 5 [l 6o
exit ports. at | 7l o ¥ @ T af o ) 5
- all dimensions in mm + < | 9 = & 74 |l <
(inches) o @ ), 25
: 7 |
L . ) 1
35,5 (1.4 102,5 (4,04) 553
117,4 (4,62) Type UB** only,
Cavity Threads e
1 M20x1,5 (relief valve)
0,2, 3,4 3/4-16 UNF (SAEO08)
30 (1,18) 5
p.T 1/4” BSPP 5| 10,5 (0,41) 12047  F g S
) 9/16-18UNF (SAE06) US type S o o SRR
1/4" BSPP (threaded " 1 1 E
T, . ay 7O
on request only) ST Yo T
1/4” BSPP (9 threaded 3% | | 8 o
56,809 on request only) ~ 100,39 3 g
43 (1,69 N
External manifold 2 pcs M8 tie-rods 50 (: 97))
attachment 4 pcs M6 tie-rods
Tanks
attachment 4 pos Mbx14 o
Integral "ojo% 14,06(0,55), , 49,02 (1,93)
AC Motors 4 pcs M8x25 O 3,92 (0,15)
attachment ~ Motor side view
DC Motors 2 pcs M6x14 5
attachment or M6 tie rods o 5
b 2 pcs M8 g S g
it lrj]mp t (see pump lenghts on < 2 = i
attachments the relevant tables) =g
Foot mounting 5
support 2 pcs M10x18
attachments N= : -
PMC hand pump / 1174 (4,62)
CM lever valve 2 pcs M5x45
cap attachments

www.hydronit.com
PPC2011/2-B040



sales@hydronit.com - +39 0362 1841 210 )il_.ldrﬂl'lit
SECTION C

PUMPS

K series. The standard pressure G series. The lightweight, pressure
balanced design for cost effective balanced, low noise and high
solutions. Also available in double efficiency pump specifically designed
execution, with or without HI-LO for mini power packs

circuit integrated in the pump

itself /

H series. It features an oversized
shaft and an higher number of theet
for high pressure applications, up to
280 bar peak.

R series: bidirectional pumps with integrated
suction check valves and two front outlet ports.
They can be fitted on UR type central manifold.

Why are pressure balanced gear pumps better than fixed clearings gear pumps?

Pressure balanced gear pumps are built with lateral pressure plates which reduce the mechanical clearings on the gears with the
increase of the pressure on the outlet, thus greatly improving the fluidodynamic efficiency, reducing heat generation and energy
consumption. The mechanical efficiency is kept at optimal levels too.

How can we mount both group 0 and group 1 pumps on the same Universal central manifold?
The group 1 pumps fits directly on the central manifold and are fixed to it by two bolts, provided together with the pump.
The group 0 pumps are fitted by the adaptor plate E60513025, which adapts the pump front flange to the central manifold.

Why are the pump technical specifications showing three maximum pressure levels?

Our pumps have three ratings for the maximum allowable pressure: 1-Peak: is the maximum one and can be allowed for a maximum
cycle of 2 seconds. 2-Intermittent: it can be applied on the pump for a maximum cycle of 20 seconds; 3-Continuous: it can be applied
on the pump continuously.

www.hydronit.com

PPC2011/2-C000




sales@hydronit.com - +39 0362 1841 210

SECTION C

G TYPE GEAR PUMPS. GROUP 1

Hydronit

[
("N
2 2
8 N ]
n.2J 8,6
| ==
N
™
& ] - 1
_ _ E [e))
A S |
S g
Main features
Oil temperature -15++80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)
Fixing bolts 2 x M8 8.8 class steel
tightening torque: 25 Nm
Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON
Filtration setting 25+50 Y
Standard rotation direction: clockwise rotation (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.
Spare part code PPC assembly code field
Size: G = G type
Pump type: see spare part code — Nominal displacement:
60 = Group 1 on below table 1,1 (cclrev) see below table
50 = Group 0
Available range
Nominal Peak |Intermittent|Continuous
. Max speed N Bolts* | Code marked | Spare part
displacement |pressure| pressure | pressure .
(cclrev) (bar) (bar) (bar) (rpm) (mm) | (mm) on pump code Weight
08 250 230 210 6000 35,8 | M8x50 | EK1PD1.2G | E60603001 0,49 Kg
1.1 250 230 210 6000 36,8 | M8x50 | EK1PD1.6G | E60603002 0,50 Kg
1,3 250 230 210 6000 37,8 | M8x50 EK1PD2G E60603003 0,51 Kg
1,6 250 230 210 6000 38,8 | M8x50 | EK1PD2.5G | E60603035 [0,52 Kg
21 250 230 210 6000 40,3 | M8x55 | EK1PD3.3G | E60603004 (0,54 Kg
2,6 250 230 210 6000 42,3 | M8x55 | EK1PD4.2G | E60603005 |0,56 Kg
3,2 230 210 190 5000 43,8 | M8x55 EK1PD5G E60603006 |0,58 Kg
3,7 230 210 190 4500 458 | M8x60 | EK1PD5.8G | E60603007 |0,61 Kg
4,2 230 210 190 4000 47,3 | M8x60 | EK1PD6.7G | E60603008 (0,63 Kg
4,9 210 190 170 3500 49,3 | M8x60 | EK1PD7.5G | E60603009 |0,65 Kg
6,0 210 190 170 3000 51,3 | M8x90 | EK1PD9.2G | E60603010 1,01 Kg
7,9 200 180 160 2100 88,0 | M8x100| K1PD11.5G | E60603012 |1,12 Kg
9,8 170 150 130 1700 95,0 | M8x110| K1PD14.5G | E60603014 |1,27 Kg

* A proper washer is to be forecast to adapt bolt lenght

www.hydronit.com

PPC2011/2-C010




Hydronit
SECTION C

G TYPE GEAR PUMPS. GROUP 0

sales@hydronit.com - +39 0362 1841 210

95 i
@ 50
5 N - 16
n.2J5,5
o~ I
N | |
9 _ 1
R -8 (@)
= o - {o] N(e]
S O 0| o
Main features
Oil temperature 3 e glcl’tél;u:zl;lgr;::oazpster flange for group 0
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure) ’
Fixing bolts 2 x M8 8.8 class steel 60
tightening torque: 25 Nm
Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON .
Filtration setting 25+50 [ ©
Standard rotation direction: clockwise rotation (from shaft side). .
Counterclockwise rotation pumps can be mounted on request. Weight 0,07 Kg
Ask our sales department.
Spare part code PPC assembly code field
Size: G = G type
Pump type: see spare part code — Nominal displacement:
60 = Group 1 on below table 1,1 (cclrev) see below table
50 = Group 0
Available range
Nominal Peak |Intermittent|Continuous
. Max speed N Bolts* | Code marked | Spare part
displacement |pressure| pressure | pressure .
(cclrev) (bar) (bar) (bar) (rpm) (mm) | (mm) on pump code Weight
0,1 230 210 190 7000 445 | M5x55 | UK0,25D18G | E60503001 |0,31 Kg
0,2 230 210 190 7000 44,5 | M5x55 | UK0,25D24G | E60503002 |0,33 Kg
0,4 230 210 190 7000 47,5 | M5x55 | UK0,25D36G | E60503004 (0,35 Kg
0,6 230 210 190 7000 51,5 | M5x60 | UKO0,5D0.75G | E60503006 (0,40 Kg

* A proper washer is to be forecast to adapt bolt lenght

www.hydronit.com

PPC2011/2-C020




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION C

K TYPE GEAR PUMPS. GROUP 1

o
12 g
8 N A
- n2086
P eladiaiia
)
Q ] I~ |-
_ — ,t Ie))
o
- |
s §
Main features
Oil temperature -15++80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)
Fixing bolts 2 x M8 8.8 class steel
tightening torque: 25 Nm
Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON
Filtration setting 25+50 Y
Standard rotation direction: clockwise rotation (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.
Spare part code PPC assembly code field
E60 ** 40 ** K ——— Pump type:
Size: K= Ktype
Pump type: see spare part code — Nominal displacement:
60 = Group 1 on below table 1,2 (cclrev) see below table
50 = Group 0
Available range
Nominal Peak | Intermittent |Continuous .
Displacement|pressure| pressure pressure Ma(): Sr';(;ed ( mNm) ?rzlrt:) Spart:jpart Weiaht
(cclrev) (bar) (bar) (bar) P code g
0,9 250 230 200 4500 60 | M8x75 E60604001 0,73 Kg
1,2 250 230 200 4500 61 M8x75 E60604002 0,75 Kg
1,6 250 230 200 4500 63 M8x80 E60604035 0,77 Kg
2,1 250 230 200 4500 65 | M8x80 E60604004 0,79 Kg
2,7 250 230 200 4500 66 | M8x80 E60604005 0,82 Kg
3,2 250 230 200 4500 70 M8x85 E60604006 0,86 Kg
3,7 230 210 180 3600 72 M8x85 E60604007 0,88 Kg
4,2 230 210 180 3600 74 M8x90 E60604008 0,90 Kg
5,0 210 180 140 3000 76 M8x90 E60604009 0,94 Kg
6,0 210 180 140 3000 80 M8x100 E60604010 0,98 Kg
7,9 180 140 100 3000 90 M8x110 E60604012 1,10 Kg

Other pumps executions with different pressure/speed ratings are available on request.
* A proper washer is to be forecast to adapt bolt lenght

www.hydronit.com

PPC2011/2-C030




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION C

K TYPE GEAR PUMPS. GROUP 0

9,5 e
5 N @ 50
< 16
= n2@55 ~_
o ] Ib
NHIE ! O
_ — wn (Y
_ 7LD L
g ™~ LD' ©
O ol &

Main features
Alluminium adapter flange for group 0

Oil temperature -15+ +80 °C Code: E60513025
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)
Fixing bolts 2 x M8 8.8 class steel 60

tightening torque: 25 Nm

Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON

Continuous pressure: cycle always ON

Filtration setting 25+50 Y

Standard rotation direction: clockwise rotation (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.

Weight: 0,07 Kg

Spare part code PPC assembly code field
E60 ** 40 ** K ——— Pump type:
Size: K= Ktype
Pump type: see spare part code — Nominal displacement:
60 = Group 1 on below table 1,2 (cclrev) see below table
50 = Group 0

Available range

Displacement] prossure| prossure | pressure | M@Xspeed| N | Bolts® | spare par |
(cclrev) (bar) (bar) (bar) (rpm) (mm) | (mm) code Weight
0,2 200 180 160 6000 45,5 | M5x55 E60504002 0,33 Kg
0,4 200 180 160 6000 47,5 | M5x55 E60504004 0,35 Kg
0,6 200 180 160 6000 51,5 | M5x60 E60504006 0,40 Kg

Other pumps executions with different pressure/speed ratings are available on request.

* A proper washer is to be forecast to adapt bolt lenght

www.hydronit.com

PPC2011/2-C040




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION C

H TYPE HIGH PRESSURE GEAR PUMPS

o
12 %
8 N ) %
o n2086
Q 1
_ - [=)
)
- |
S &
Main features
Oil temperature -15++80 °C
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure)
Fixing bolts 2 x M8 8.8 class steel
tightening torque: 25 Nm
Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON
Continuous pressure: cycle always ON
Filtration setting 25+50 Y
Standard rotation direction: clockwise rotation (from shaft side).
Counterclockwise rotation pumps can be mounted on request.
Ask our sales department.
Spare part code PPC assembly code field
E60 60 50 ** H Pump type:
Size: H = H type
see spare part code 12 |—— Nominal displacement:
on below table ' (cclrev) see below table
Available range
Nominal Peak | Intermittent |Continuous .
Displacement|pressure| pressure pressure Ma(): Sr';(;ed (mNm) ?;Irt:) Spart:jpart Weiaht
(cclrev) (bar) (bar) (bar) P code g
1,2 280 270 250 5000 40 M8x55 E60605002 0,5Kg
1,7 280 270 250 4500 41 M8x55 E60605035 0,52 Kg
2,2 280 270 250 4500 44 M8x55 E60605004 0,54 Kg
2,6 280 270 250 4500 46 M8x60 E60605005 0,56 Kg
3,2 280 270 250 4000 52 M8x65 E60605006 0,58 Kg
3,8 280 270 250 3800 55 M8x70 E60605007 0,61 Kg
4,2 280 270 250 3500 82 M8x95 E60605008 1,05 Kg
4,7 260 250 240 3200 84 M8x100 E60605009 1,12 Kg
6,0 230 220 210 3000 94 M8x110 E60605010 1,22 Kg

Other pumps executions with different pressure/speed ratings are available on request.
* Proper washers are to be forecast to adapt bolt lenght

www.hydronit.com

PPC2011/2-C050




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION C

BIDIRECTIONAL GEAR PUMPS. GROUP 0

o
25 L %
. _\5 N | S
o~
N _ __ -
Q o =i
R T )
2 of
| o
Main features
. Alluminium adapter flange for group 0
Oil temperature -15+ +80 °C Code: E6051 302’)5 9 9 P
Inlet pressure 0,7 < P < 3,0 bar (absolute pressure) ’
Fixing bolts 2 x M8 8.8 class steel 60

tightening torque: 25 Nm

Pressure definition Peak pressure: cycle 2 s ON
Intermittent pressure: cycle 20 s ON

Continuous pressure: cycle always ON

Filtration setting 25+50 Y

Standard rotation direction: clockwise rotation (from shaft side). -
Counterclockwise rotation pumps can be mounted on request. Weight 0,07 Kg
Ask our sales department.

Spare part code PPC assembly code field
E605045 ** R Pump type:
R = Reversible type
Size: 13 [ Nominal displacement:
see spare part code ’ (cclrev) see below table

on below table

Available range

Disr:)cl)ancl:lennilent prz::l':re In;?é::txtfem Cs'r':lsr::‘c::sMax speed N | Bolts* | Spare part ]
(cclrev) (bar) (bar) (bar) (rpm) | (mm) | (mm) code Weight
0.1 190 170 150 6000 | 455 | M5x55 | E60503501 | 0,44 Kg
02 200 180 160 6000 | 45,5 | M5x55 | E60504502 | 0,46 Kg
0.4 200 180 160 6000 | 47,5 | M5x55 | E60504504 | 0,48 Kg
06 200 180 160 6000 | 54,5 | M5x60 | E60504506 | 0,49 Kg
0.9 200 180 160 5000 | 62,4 | M5x60 | E60504509 | 0,50 Kg
1.3 200 180 160 3900 | 63,2 | M5x65 | E60504513 | 0,51 Kg
1.5 200 180 160 3900 | 64,5 | M5x65 | E60504515 | 0,52 Kg

* A proper washer is to be forecast to adapt bolt lenght
For higher displacement please ask to our technical department

www.hydronit.com

PPC2011/2-C060




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION C

DOUBLE GEAR PUMPS

12 Shaft max. torque 21,5 Nm

@ 32

Commune 3/8” BSPP inlet port (on the rear cover) alternatively individual inlet side ports are available

Absorbed torque PPC assembly code field

€ 20 79] 60
Z, 18 / /
03; 16 / / G Pump type:
o 5’0 42 G =G type

14 / 37 K =K type

12 /3 5 1,2 +———— Displacement 1st section

/ /2 ol

/A 24
6 /) 16

// 1P — Displacement 2nd section

// 7 == ———1 0,9]cclrev]

— Option:
Hi - Lo execution

‘-

0 50 100 150 200 250 p [bar]

Standard combinations available

Nominal Peak |Intermittent Continuous|Unloading
Type Displacement |pressure| pressure | pressure | pressure Ma(): srf:()eed Spart:jpart Weiaht
(cclrev) (bar) (bar) (bar) (bar) P code g
K0,9+3,2HL| 0,9+ 3,2 250 230 210 4245 1750 | E60600932HL | 2,12 Kg
K1,2+5HL | 1,2+ 5,0 250 230 210 4245 1750 E60601250HL | 2,29 Kg

PUMPS CHOICE DIMENSIONING:

- Check that the power absorption of the front element is equal or higher than the rear one
- Element performance and features are the same as the elements of corresponding single

pumps

- Double pump maximum rotation speed is determined by the lowest speed among maximum

rotation speeds of each single element Example: UAtypebody . )
- Torque applied on the shaft of the first element is the addition of the torques absorbed by the P
two pumps (see above diagram); this value must never go over the limit value allowed for the ! HI-LO pump i

shaft (21,5 Nm).

HI-LO

It's an efficient and energy saving solution for applications where you need a fast approach and
an high pressure working phase (industrial presses, garbage compactors, balers,...). . :
During the high speed phase both pumps are supplying flow to the system while during the high | Sp2 S i
pressure phase, the high flow pump is discharged back to tank with no load.
This solution can be conveniently realized with our UA or UB or U4 central manifold without any |§
additional kit. Ask to our technical office for more details. ~~ CUmmEmmmmememmememesmemmmmee

www.hydronit.com

PPC2011/2-C070




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION C

HELICAL ROTOR PUMPS FOR HIGH PRESSURE, HIGH FLOW AND LOW NOISE APPLICATIONS

o
o
)
_ 12 M - m
8 N - 3
| ]
© . ]
Q % o
i ~
2 |
Q
y
Main features
Oil temperature -15++80 °C
Inlet pressure 0,7 <P < 2,0 bar (absolute pressure)
Weight 2+25Kg
Filtration setting 30+50 M
Fixing bolts 2 x M8 8.8 class steel
tightening torque: 25 Nm
Pressure definition Peak pressure: cycle 1 sec. & 3 sec. OFF
Intermittent pressure: cycle 20 sec. & 3 sec. OFF
Continuous pressure: cycle always ON Available range
Displacement prz::l':r e In;(re;::’:‘t:eent Cs:leiilsl';l:‘?:s Max speed| N | M |Noise level| Spare part
PPC code (cclrev) (bar) (bar) (bar) (rpm) |[(mm)|{(mm)| (dbA) code
S4,2 4,2 250 230 200 3600 88 | 95 55 S60603008
S6,4 6,4 250 230 200 3600 93 | 100 55 S60603010
S8,3 8,3 215 195 153 3600 98 | 105 55 S60603012
S10 10,2 190 170 126 3600 103 | 110 55 S60603014
S13 12,9 160 140 99 3600 110 | 117 55 S60603016
1009 — . .
? % [ — V(%Iumetrlc
o | T T T e, .
E 90% \\\ Mechanical
w Overall
80%
70%
60%
50 100 150 200 250 [Bar]
Note: Reference values measured at 1500 rpm with an oil viscosity of 46 cSt at 40 °C.
< 70 |
% I CT‘ and K type gear pump
5 65
[ — |
5 — | e S type helical rotor pump
L N A B — s S
2
55
1000 1500 2000 [rpm]

Note: Reference values measured in air at 1500 rpm with an oil viscosity of 46 cSt at 40 °C.

www.hydronit.com

PPC2011/2-C080




sales@hydronit.com - +39 0362 1841 210 )il_.ldrﬂl'lit
SECTIOND

INTEGRAL COMPONENTS

Two way no leakage solenoid valves SAE08 The PMCO2 cartridge hand pump SAE08 (3/4-16UNF), 2
(3/4-16UNF) are available in Normally Closed, cc/stroke is an affordable and easy way to add an emergency
Normally Open, single and double locking function to your power pack.

executions.Manual override also available.

VSC flow control valves are
pressure compensated to keep
a stable lowering speed of
single acting cylinders
undependently of the load

All cartridges are supplied in
single piece, easily screwable

The main relief valve is fitted in a M20x1,5
cavity and is built with a guided poppet to ) o )
improve pressure setting stability and avoid the The main check valve fits in a SAEO8 (3/4-16UNF) standard cavity and

typical noise of lower cost alternative valves can be easily unmounted from the outside for easy cleaning and servicing

How does the coding of the power pack works?

The power packs are coded with a speaking code, which is basically the list of subassemblies which make up the power pack (motor,
pump, valves, tank,...). Integral components are those fitting inside central manifold cavities, which are numbered from 0 to 8. Each
component has an assembly code, normally a single letter which compose the speaking code, and a spare part code in case they are
ordered as loose components. The numbered cavities are indicated in the hydraulic scheme too, so that it is easy to draw it starting
from the speaking code itself

There are several different coils and connectors for the cartridge solenoid valves. How do I choose the proper ones?
Normally closed 2-way solenoid valves (MSV30*) use M130 series of coils either DC or directly AC. Normally open 2-way solenoid valves
(MSV31E) can only use DC or RAC (rectified current) coils due tho their constructive principle. Both can use M140 series of coils for
enhanced performances. When choosing a RAC coil, a rectifying bridge connector must be chosen (KA132R***), MSV4V 4-way
cartridge valves use the new M63*** series coils. M630 are for DC supply voltage, while M631 are rectified coils with integral rectifying
bridge, to be supplied with AC current. A standard KA13200000 connector must be always used in this case.

Which are the mostly used plugs?
G or H plugs are normally fitted in cavity 2 and 4, of UA and UB central manifolds when these cavities are not used. H type has an exit

1/4"BSP port to allow mounting of a pressure gauge or switch. L type plug goes in cavity 3 of U4 and UB manifolds, when this cavity is
not used.

www.hydronit.com

PPC2011/2-D000




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION D

VMDC35 - DIRECT ACTING MAIN RELIEF VALVE

Max 80

Hex. 22 Hex. 24

M20 x 1,5
y
o
4<=) O
{
IS
¢
w

Hex. 13
50 Max 50 Max 65
=1 PPC assembly code field Spare part code
|
Pl T
VMDC —— Direct acting
%' B main relief valve
where *** stands for max setting N . .
pressure [bar]. Ex. D/280 35 Nominal size:
Main features 35 =35 I/min
where stands for option other
Max pressure 450 bar than the standard one. —— Working range:
Max flow 35 I/min B L=10 +60 bar
Weight 0,16 k . ier — = =
g g Mounting cavities A =20+ 180 bar
B =35 + 280 bar
1 C =60 + 350 bar
1 = screw (std)
2 = handwheel
Recommended tightening torque: 50 Nm 3 = with cap
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present 4 = plastic seal
Oil temperature: -30 + + 80 °C on central manifold type UB only. P
Minimum setting pressure Pressure vs flow
8 60 420
o o
< 50 / B 350
» / ,/ 280 B
30 ~ A 210
// A
20 - 140
—— L
/
10 70 —_— |
0 0
7 14 21 28 35 7 14 21 28 35
Flow [I / min] Flow [l / min]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com
PPC2011/2-D010




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION D

VMDC20 - DIRECT ACTING RELIEF VALVE

26,5 38 25,5 max

| et —

o PE>

3/4 16 UNF - 2A
1

—<a [ooo|

Hex. 22

=1 PPC assembly code field Spare part code
\
P T
VMDC —— Direct acting
%' , — relief valve
where *** stands for max setting -
pressure [bar]. Ex. V250 . .
Main features 20 Nom_lnal size:
where stands for adjustment 20 =20 I/min
Max pressure 350 bar other than the standard one OE— .
Max flow 20 I/min B  Working range:
Weight 0,14 kg . . S A=10+40 bar
Mounting cavities B =20+ 110 bar
C =30 + 250 bar
D =70 + 350 bar
3 .
\I’i Adjustment:
1 = screw (std)
Recommended tightening torque: 40 Nm V = handwheel
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.
Minimum setting pressure Pressure vs flow
5 e
o 90 s 420
o D - D
< 75 - 350
I " C
]
60 280 c
45 — v 210
/
30(=——] — ﬁ/ 140 8
15 /4 70 A
__’/
0 0
4 8 12 16 20 4 8 12 16 20
Flow [I / min] Flow [I / min]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D020




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION D

VCF6 - PRESSURE COMPENSATED FLOW CONTROL VALVE

| 26,5 L 33,5 _
o Hex. 24
Q
s )
ol 5 . C
© g 1 E> O ) 0
5 o 3
B | [N
PPC assembly code field Spare part code
1 %% 2
I VCF6 ——— Flow control valve
X : — pressure
\évit:éﬁsmsrt]ands for nominal compensated
Main features . . .
* Nominal dimension:
Max pressure 350 bar See table below
Max flow 18 I/min Adiust ¢
Weight 0,11 k . " — justment:
€9 g Mounting cavities c C = screw (std)
V = handwheel
3
Recommended tightening torque: 25 Nm
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.
— Pressure drop diagram
C
Controlled fl E 20
Nominal C ontroled flow = T —— A+B
dimension at 100I/brsirni 10% _% 15 [—
o
2 0,6 1,0-2,2 olr
3 1,0 1,6-4,0 !
4 1,2 25-5,0 s |2
5 1,8 30-70 ’
o 2.8 49-10.8 0 50 100 150 200 250 300 350
7 -
4,8 8,0 18,5 AP [bar]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D030




sales@hydronit.com - +39 0362 1841 210 )’l_.]dl'ﬂl'lit
SECTION D

CSB - BIDIRECTIONAL FLOW CONTROL VALVE

A 26,5 L 29,5 . B 10,5 max
Hex. 24
11,5
B /‘ Hex. 6
S
. C
L ~ 1
z o ‘
) N 1 <:E> o ' Qi h 0’0”0’1"0‘0‘0‘%‘0"4
Q i K] Q
e RssssResss] Ni¢
< R SIRII] Q
NS o
@ ﬁ L
PPC assembly code field Spare part code

1 %% 2
E CSB ———— Flow control valve

Main features 04 Nominal size:
— 04 = 3/4-16 UNF
Max pressure 300 bar
Max flow 15 I/min —— Adjustment:
Weight 0,08 kg Mounti " C C = screw (std)
ounting cavities —_— V = handwheel
0
2|34
Recommended tightening torque: 25 Nm
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.

Pressure drop diagram

20

AP [bar]

15

10 Vs

0 10 20 Flow [I/ min]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D040




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION D

VSCO1 - PRESSURE COMPENSATED FIXED FLOW CONTROL VALVE

Typical application

A 26,5 o
A5= A6=
Controlled flow Free flow
o ~ ]
5| = ¢ bl A
2 = B8 g = o <1 M
| & Y e
- | T |
L7 |
S
PPC assembly code field Spare part code
Nomf',':,?,,l, ‘[:,c,’n':::]’"ed (01) VSC —— Flow control valve
Ex. 5(01) pressure
compensated
Main features 01 —— Nominal size:
Max pressure 250 bar Mounting cavities — 01=1/4" BSPP
Max flow 15 I/min
Weight 0,012 kg E — Cg\ngoge%flgwlz.
H,L,M, N
5|6 8
Recommended tightening torque: 6 Nm "
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.
Controlled flow through X port 2 = 1 = 1 Free flow pressure drop 1> 2
Q
Nominal o
sz::;gart @ X[mm] | controlled <12 /_! I I ’ / / / / /
flow [I/min] // / / [ /// //
VSCO1A 1 1 10 B 1 / / A 7 /
VSCO1B 1,2 2 // cly / / /) /
VSCO1C 15 3 e f E—V/
’ | Y SN AL
VSCO1D 17 4 6 —ff e v
VSCO1E 19 5 A // // N
VSCO1F 21 6 / /////// &/
VSCO1H 25 8 vy, VA - %
VSCO1L 28 10 e
VSCO1M 3 12 0 5 10 15
VSCO1N 5 15 Flow [I / min]
Note: nominal controlled flow, measured at 100 bar with an oil viscosity Note: Values measured on valve alone (no cavity) with
of 46 cSt at 40 °C, are to be taken as general reference values and must an oil viscosity of 46 cSt at 40 °C. Pressure drop may
be tested on the field. change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D050




sales@hydronit.com - +39 0362 1841 210

VSCO04 - PRESSURE COMPENSATED FIXED FLOW CONTROL VALVE

85 165
35 o o
Controlled flow o # ] T/< ] Free flow
L < | ! 0
2 = S s, Ml O || <=1 S
— 1 i % , & “ I _‘1:— - ]
Sy | = | A |
L_1.__ 1
1
PPC assembly code field Spare part code
Nominal controlled e
°m;,':,3,‘[:,c,’n':|:]’ % (04) VSC | —— Flow control valve
Ex. 504) E— pressure
compensated
Main features 04 Nominal size:
Max pressure 250 bar Mounting cavities 04
Max flow 15 I/min
Weight 0,012 kg 02 |——— Controlled flow:
00, 01, 02, 03, 04, 05
06, 08, 10, 12, 15
7
Recommended filtration settings: 25 + 50 p . i~
Oil temperature: -30 + + 80 °C E:tférﬁ?;’;t:ﬁzrﬁ;o‘}dagis os (‘,’;ﬁfe"t

Controlled flow through X port 2 = 1 =

Nominal a
sz::;gart @ X [mm] | controlled %12 O1I I ’ / / ///

flow [I/min] / / / / /// //
VSC0400 | Closed 0 10 /02 J /) /
VSC0401 08 1 . // 03 04/1 / / /| /
VSC0402 1 2 / 05—/ /
VSC0403 | 1,25 3 6 1{ /// //O"'os1 c/ A

12
1,5

e WV sy
VSC0406 2 6 ) / ///¢/ i
VSC0408 2,75 8 -
VSC0410 35 10 0 5 10 15
VSC0412 4 12 Flow [I/ min]
VSC0415 5 15

Hydronit

SECTION D

Typical application

Free flow pressure drop 1> 2

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

Note: nominal controlled flow, measured at 100 bar with an oil viscosity
of 46 cSt at 50 °C, are to be taken as general reference values and must
be tested on the field

www.hydronit.com

PPC2011/2-D060




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTIOND

VSC6 - PRESSURE COMPENSATED FIXED FLOW CONTROL VALVE

38

A
!

o Hex. 22
Q
<
N
1
20 0~
- o |:> _
© - 1
-~ Q
Ny 1
[3p)
PPC assembly code field Spare part code
1 %% 2
I VSC6 —— Flow control valve
where * stands for nominal pressure
dimension compensated
Main features . . .
* Nominal dimension:
Max pressure 350 bar See table below
Max flow 18 I/min
Weight 0,06 kg

Mounting cavities

3
Recommended tightening torque: 25 Nm
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.

Pressure drop diagram

=
Controlled flow E 20

Nominal Y = | A—TB
dimension c . 100|;)rﬁirr1i 10% _% 15 I —

02 0,8 1 ol

03 1,0 2 !

04 1,25 3 5 [

05 1,5 4 :

06 1,75 6

07 2 8 0 50 100 150 200 250 300 350

09 25 1 AP [bar]

1 3 14

13 3,5 16

15 4 20

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D070




Hydronit
SECTION D

sales@hydronit.com - +39 0362 1841 210

VUC20 - BASIC CHECK VALVE

<
. N
Option P o
(E70060001) 5
<12, ©
Hex. 19 g
Y
o
o
n
m — — -
i
= L
This part is tipically used to connect 11
a pressure gauge for statical
pressure measurement.
It is not suitable for istantaneous A 21 _
pressure measurement. o Hex. 22
PPC assembly code field Spare part code

2 1 -
_WO B VUC ——— Check valve

where * stands for optional
pressure port

Main features 20 ——— Nominal size:
Max pressure 350 bar — 20
Max flow 25 |/min
Weight 0,052 kg . . H
; Mounting cavities - Options:
Cracking pressure 1 bar - = no options
0 P = pressure port
2134 1/4” BSPP

Recommended tightening torque: 40 Nm
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.

Pressure drop diagram

5
2 8
o
<
6 /
4
-—_//
0 5 10 15 20 25

Flow [I / min]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D080




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION D

CPE - MANUAL EMERGENCY VALVE

|
o
N SO Y N I ) ESORO I .
Q
A
3/4-16 UNF-2A \
PPC assembly code field Spare part code
2
@ E CPE ——— Two-way manual
1 R emergency valve
Main features 04 Nominal size:
Max pressure 300 bar 04 = 3/4-16 UNF
Max flow 25 I/min —
Weight 0,12 kg . . P | Operating device:
Mounting cavities S P = press button
0
23|14
Recommended tightening torque: 25 Nm
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.
_ Operating force (daN)
g Pressure drop diagram on the press button
= zZ
o ©
g 12 S 10 >

=
e

75 y
8 /Q///'\/y | //

7 5
4 /‘5/ 29 2—1
/ 0
2 100 200 300 400
bar
0 5 10 15 20 25

Flow [I / min]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D090




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION D

CM - MANUAL LEVER VALVE Motor switch Off, valve close

&

e,

Open valve

) ::"'.Motorswitch on

N

R 7o) 2
Ire}
N
<C
al
L
z
)
©
w M~ o~
- o] " 1
™ N =
<> 1)
, 37 23
Optional
Micro switch | 30, |, 98 | | 29
PPC assembly code field Spare part code
CcMo4L CM04M
2 2 A —
HITEme HT S E (CMO4L) cMm Two-way
- 3 EM (CM04M) — manual lever
valve
Main features 04 Nominal size:
Max pressure 300 bar 04 = 3/4-16 UNF
Max flow 25 I/min Type:
Weight 0,34 kg . i, L _
Micro switch 10A- 400V Mounting cavities L —_Iever (std)
max current 16 A-250V M = |eYer t
micro switch
2 4
Fixing bolts: 4x M5x45 (tightening torque: 5 Nm)
Recommended cartridge tightening torque: 20 Nm
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.

Pressure drop diagram

12

10 N 7{
>

6 =
’ —
/

AP [bar]

5 10 15 20 25
Flow [I / min]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D100




Hydronit
SECTION D

sales@hydronit.com - +39 0362 1841 210

PMC - CARTRIDGE HAND PUMP :

, /suction

,
e,
/ 5

o
re]
I3
<
o
L
z
o -]
w0 % N~ g
™ o <
N P s o
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | I G ,; P |
37
B 58 | 29
P PPC assembly code field Spare part code
E PMC —— Hand pump
S
Main features 02 | Nominal size:
Max pressure 200 bar 02 = 2 cc/stroke
Max flow - L
Weight 0,34 k . . Type:
g g Mounting cavities — pr= lever (std)
2 4
Fixing bolts: 4x M5x45 (tightening torque: 5 Nm)
Recommended cartridge tightening torque: 15 Nm
Recommended filtration settings: 25 + 50 p Note: cavities 3, 4 and 6 are present
Oil temperature: -30 + + 80 °C on central manifold type UB only.
Effort (daN)
operating on the lever end
% 30
S,
4
E 25 //
L
20 /’
10
0 50 100 150 200 250

Pressure [bar]

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D110




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTIOND

MSV - PILOT OPERATED TWO-WAY SINGLE LOCKING SOLENOID VALVE

Hex. 24

Reversible flow
(optional)

------ <> 1
<
o
LL
z
35
©
S
(42}
Stroke 4 mm
MSV30 MSV30E MSV31E PPC assembly code field Spare part code
2 2 2
m o wm oW plof ]| A (MSV30) Voltage MSV Two-way
1 1 1 B (MSV30E) Voltage :
c pilot operated
(MSV31E) Voltage solenoid valve

Main features Ex: A12DGC E

Max pressure 210 bar (up to 300bar*) Options:

Max flow 25 l/min R = with reversible flow
Weight 0,27 Kg (with coil) Ti Operation:

Coil thermal insulation Class F (Class H*)
DIN 43650-A / ISO 4400

IP 65/ DIN 40050

30 = normally closed
31 = normally open

Mounting cavities
Electric connection

Coil protection degree B
0 | Emergency override:

Duty cycle

Voltage required

Normatives

(89/336 CEE electromagnetic comp.)
73/23/CEE / 96/68/CEE (low voltage)

ED 75% (ED 100%*)
+/- 10% nominal voltage

ENS50081-1/EN50082-2

*: with M140 series coils only. See table U040.20.12
coils section. The max flow/max pressure cannot be
achieved at the same time.

Note: cavities 3, 4 and 6 are present
on central manifold type UB only.

E = emergency
— Supply voltage:

0000 = no coil (std)

see below table

0000

Coils section 5 Pressure drop diagram
O
. , . g5
Supply Coil | Spare coil Spare Holding power
voltage (V)| type code |connector code| consumption 12
12DC 12DC | M13040001| KA132000B1 18W 9 //
24DC 24DC |M13040002| KA132000B1 18W : /\/}/
50 Az -~
24AC/ 4o, 24DC | M13040002| KA132R11B1 18W 5 ,/
115AC/g0 2| 110RC |M13040004| KA132R12B1 18W —
0
230AC/ 2| 220RC |M13040005| KA132R13B1 18W o8 y ri?n]
1" 5AC/50H; 115/50AC| M13040006| KA132000B1 28VA Recommended tightening torque: 45 Nm
+ Recommended filtration settings: 25 + 50 u
230AC/50Hz230/50AC| M13040007| KA132000B1 28VA Oil temperature: -30 + + 80 °C
*Only for MSV30*NC valves. Note: Values measured on valve alone (no cavity)

Other voltages and electric connectors types (Amp Juior, flying leads,...) are available on request.

Inrush power consumption can be up to 3,5 times higher than the holding one.

www.hydronit.com

with an oil viscosity of 46 cSt at 50 °C. Pressure
drop may change depending on fluid viscosity and
temperature

PPC2011/2-D120

0 = no emergency (std)



sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTIOND

MDV - DIRECT OPERATED TWO-WAY DOUBLE BLOCKING SOLENOID VALVE

1 Hex. 24
m@L 3/4-16 UNF-2A
f
€ v
T = FH-lEllh- <=1
© i :
¢ T
N i
Y i
- 95 - |
MDV30E PPC assembly code field Spare part code
2
mﬁ D Voltage MDV Two-way
! Ex: D24DC — double blocking
. solenoid valve
Main features )
Max pressure 210 bar 30 Operatlon:
Max flow 15 rmin 30 = normally closed
Weight 0,34 Kg (with coil)
Coil thermal insulation Class H Mounting cavities E ——— Options:
Electric connection  DIN 43650-A/ ISO 4400 E= emergency (Std)
Coil protection degree IP 65/ DIN 40050
Duty cycle ED 75% (ED 100%") 0000 Supply voltage:
Voltage required +/- 10% nominal voltage 2|34 0000 = no coil (std)
Normatives ;85;3{53%2%%%3%%@; see below table
*: with M140 series coils only. See table U040.20.12
coils section. The max flow/max pressure cannot be Note: cavities 3, 4 and 6 are present
achieved at the same time. on central manifold type UB only.
Coils section __ Pressure drop diagram
©
: : : =20
Supply Coil | Spare coil Spare Holding power o
voltage (V)| type code |connector code| consumption <5
12DC 12DC | M14040001| KA132000B1 22W 10
24DC 24DC |M14040002] KA132000B1 22W A
5 //
24AC/ gg :: 24DC |M14040002] KA132R11B1 22W 0
5 10 15
115AC/§3 :: 110RC |M14040004| KA132R12B1 22W Flow [|/ min]
ow min
230AC Gg :: 220RC | M14040005| KA132R13B1 22W

Other voltages and electric connectors types (Amp Junior, flying leads,...) available
on request.
Inrush power consumption can be up to 3,5 times higher than the holding one.

www.hydronit.com

Recommended tightening torque:45 Nm
Recommended filtration settings: 25 + 50 p
Qil temperature: -30 + + 80 °C

Note: Values measured on valve alone (no cavity)
with an oil viscosity of 46 cSt at 50 °C. Pressure
drop may change depending on fluid viscosity and
temperature

PPC2011/2-D130




Hydronit
SECTION D

sales@hydronit.com - +39 0362 1841 210

MSVA4YV - DIRECT OPERATED 4/3 OR 4/2 DIRECTIONAL SPOOL SOLENOID VALVE

.. g ommmmmmmmmmmmmn - L
co.-
2 3/4-16 UNF-2A 4 way
o S2 - S1 \‘
LD.-
©
Ty
, IR SR
V3V
Only for three-position spool
- 85,3 e 54,6 o
Main features PPC assembly code field Spare part code
Max pressure 210 bar
Max flow 12 /min 4VA2 Voltage MSV4V 4/3 or 4/2
Weight 0,37 Kg (1 solenoid) - — i i
0,64 Kg (2 solenoid) Ex: 4VA2 24DC directional spool
solenoid valve
Coil thermal insulation Class H)
Electric connection  DIN 43650-A/ ISO 4400 A2 Spool and scheme:
Coil protection degree IP 65 / DIN 40050 Mounting cavities see side table
Duty cycle ED 100%
Voltage required +/- 10% nominal voltage 00 OptionS'
Recommended 30 Nm 2 00 = std
tightening torque
Oil temperature -25 + +70°C 24DC | Supply voltage:
Note: MSV4V can be mounted on see below table
central manifold type U4 only.
Note: cavities 3, 4 and 6 are present
on central manifold type UB only.
4 2
Coils section Code
3 1
Supply | Coil | Spare coil Spare Holding power
voltage (V)|voltag code connector code| consumption Double solenoid
12DC 12DC | M6306012 KA132000B1 22W A2* @@Illﬂ’x
24DC 24DC | M6306024 KA132000B1 22W =
24AC/ 02 | 24AC | M6316024 | KA132000B1 22w B2 ol Alr o|] |
115AC/ 20HZ| 115AC | M6316115 | KA132000B1 22w c2 SAYTHI]
230AC/ g9 12| 230AC | M6316230 | KA132000B1 22w —
E2 ichdkalill
Single solenoid
atc | @lX]:

Other voltages and electric connectors types (Amp Junior, flying leads,...) available on
request. ) ) .
Inrush power consumption can be up to 3,5 times higher than the holding one. * = spools with price additional

Other spools are avaiable on request

www.hydronit.com

PPC2011/2-D140




sales@hydronit.com - +39 0362 1841 210 )’l_.ldrﬂnit
SECTION D

VMPC2 - PROPORTIONAL RELIEF VALVE

©
©
Q
|
g PPC assembly code field Spare part code
1 4 2
‘g P*** Voltage VMPC —— Direct acting
R proportional relief
. here *** stands for max setting —_— valve
Main features e i )
pressure [bar]. Ex. P25012DC 2 Nominal size
Max pressure 350 bar
Max flow 2 l/min Worki .
Weight 0,46 Kg (with coil) B orking range.
Coil thermal insulation Class H H A A =2+ 60 bar
Mounting cavities B =3+120 bar
Electric connection  DIN 43650-A / ISO 4400 C=4+210b
Coil protection degree IP 65/ DIN 40050 - ) ar
PWM 120 Hz .
Hysteresis 5% 3 " Optlon
Duty cycle ED 100%
Voltage required +/- 10% nominal voltage
——— Supply voltage:
Normatives OBl al/ENT002. 2 M Note: cavities 3, 4 and 6 are present 0000 PP y_ 9 .
; 2o vcrige) i - 0000 = no caoll
TH2Z3ICEE | SG/BBICEE (low valtage) on central manifold type UB only.
-12DC
-24DC

Recommended tightening torque: 30 Nm
Recommended filtration settings: 10 + 25 y

QOil temperature: -40 + + 80 °C Pressure drop Pressure vs current

Note: Supplying current to the coil from 0 to | max E‘ 30 E 240
(see below diagram), a proportional pressure 2 =
variation is obtained on port P. o o C
For the controller see page U040.20.16 25 200 /
20 160
C
B
: : 15 120 /
Coils section / B /
Supply Spare coil Spare 10 80
voltage code connector A
code 5 L—] A
12DC M6306012 KA132000B1 / 40 4
24DC M6306024 KA132000B1 0 ; /
2 4 6 8 10 0 0,12 025 037 05 062 24vDC

Flow [I/min] ¢ 025 05 075 1 125 12vDC

Note: Values measured on valve alone (no cavity) with
an oil viscosity of 46 cSt at 50 °C. Pressure drop may Current [A]
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D150




Hydronit
SECTION D

sales@hydronit.com - +39 0362 1841 210

CSPC15 - PROPORTIONAL FLOW CONTROL VALVE

Hex. 24
Hex. 19
3/4-16 UNF-2A
| \
\ .
te} o - 1
[ o RN 8= 1
Q q (I
v Zﬁ
49 27,7
) PPC assembly code field Spare part code
10 O W=
"‘ll!’ { T Voltage J CSPC —— Proportional flow
! Ex: T12DC — control valve
Main features . .
15 [ Nominal size:
Max pressure 315 bar 15 = 15 I/min
Max flow 15 I/min
Weight 0,25 Kg (with coil) 0 Ooti
. . . — ion:
Coil thermal insulation Class H M H s p
ounting cavities L = i
Electric connection  DIN 43650-A/ ISO 4400 9 0 = no options
Coil protection degree IP 65/ DIN 40050
PWM 120 Hz 2 4 0000 —— Supply voltage:
H 0, .
Hysteresis 5% - 0000 = no coil
Duty cycle ED 100% -12DC
Voltage required +/- 10% nominal voltage -24DC
Normatives ) Note: cavities 3, 4 and 6 are present
73/23/CEE / 96/68/CEE (low voltage) on central manifold type UB only.
Recommended tightening torque: 30 Nm
Recommended filtration settings: 10 + 25 y
Oil temperature: -10 + + 80 °C Pressure vs flow Flow vs current

-
[¢)]

Note: Supplying current to the coil from 0 to | max 21
(see below diagram), a proportional pressure
variation is obtained on port P. -

P [bar]

For the controller see page U040.20.16

Flow [I/min]
\

105 10 /
Coils section /
Supply Spare coil Spare 70 /
voltage code connector 35
code /
12DC M6306012 KA132000B1 0
24DC M6306024 | KA132000B1 5 10 15 0 01 03 05 07 0924vDC

Flow [I/min] ¢ 02 06 10 14 1812vDC

Current [A
Note: Values measured on valve alone (no cavity) with (Al
an oil viscosity of 46 cSt at 50 °C. Pressure drop may
change depending on fluid viscosity and temperature

www.hydronit.com

PPC2011/2-D160




sales@hydronit.com - +39 0362 1841 210 )’l_.ldrﬂnit
SECTION D

VPC - ELECTRONIC AMPLIFIER FOR PROPORTIONAL SOLENOID VALVES

DIN 43650

c E ()
= e (S
+
@ l.max @
R
i Q)
f_ll Weight: 0,11 Kg
Main features Spare part code
Supply voltage 12/24VDC
Voltage input signal 0-10v VPC Electronic amplifier
e Electric scheme for solenoid valves
Input impedance 100 kohm | I
Max current range 2,5A - + 00 Obti
Electric connection  DIN 43650-A/ ISO 4400 ptions
Ramp adjustment 0+3s
(indipendent) FOT
PWM 120 Hz
(optionally adjustable) (50 + 400 Hz) p
Working temperature -10 ++50 °C {2 3 13
Normatives (897336 OEE Gcromanets comp) -
73/23/CEE / 96/68/CEE (low voltage)
Suitable for:
- CSPC15**** (see table U040.20.15.00)
- VMPC2**** (see table U040.20.14.00)

Instruction for use:

1) turn completely “I MIN” trimmer in counterclockwise direction;

2) adjust the external voltage input signal to the initial regulating (flow or
pressure) value;

3) turn “I MIN” trimmer in clockwise direction until valve starts regulating;
4) adjust the external voltage input signal to the max value and adjust “I
MAX” trimmer until the valve regulates the maximum flow or pressure on
the hydraulic system.

Ramp adjustment (up) Ramp adjustment (down)

A
I(A)

/
A :

/

0 t sec 0

www.hydronit.com

PPC2011/2-D170




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTIOND

PLUGS
- 37 - Hydraulic symbol PPC assembly code
g .
__| |__ - mgw
1 w Mounting cavities
N b5 S rt cod
AN SN (O N N pare part code
T i 2|34
\ & E70100005 ‘
Weight: 0,066 Kg
- 37 - Hydraulic symbol PPC assembly code
'._
| N L] Mounting cavities
N
o :.’.? . Z—‘ - Spare part code
X i 2|34
| Gl | E70100003 ‘
Weight: 0,047 Kg
- 37 - Hydraulic symbol PPC assembly code
ity ; .
21 )13
i L] W, Mounting cavities
N | 3 P
G| @ I o o Spare part code 0
2 3y | ) = 1 % 234
1 W =1 E70100006 ‘
Weight: 0,045 Kg
3 15 Hydraulic symbol PPC assembly code
—H
o e N W % | Mounting cavities
8 E N | e Spare part code 0
) S 2(3]4
E70100004 ‘
Weight: 0,027 Kg
-~ 2 Hydraulic symbol PPC assembly code
10,5

Ty Mounting cavities
INEEY 5
x| o — Spare part code 0
2wy | 3 2(3]4
1 =t E70100002 |
Weight: 0,042 Kg
49’5 Hydraulic symbol PPC assembly COde

i
Y

Mounting cavities

Spare part code 1

Hex. 22

M20 x 1,5

' E70100010 ‘ |
Weight: 0,110 Kg

Note: cavities 3, 4 and 6 are present on central manifold type UB only.

www.hydronit.com
PPC2011/2-D180



sales@hydronit.com - +39 0362 1841 210 )il_.ldrﬂl'lit
SECTION E

TANKS

Squared steel tanks from 3 to 30 | Round steel tanks from 1,5 to 12 |, for
horizontal and vertical mounting

Squared plastic tanks, from 1,5 to 12 |,
for horizontal or vertical mounting

Round plastic tanks with 5 or 9 | volume, for e ey / \\
horizontal or vertical mounting.

Better plastic or steel tanks?

Plastic tanks have several advatanges. Among them they do not get rust, the oil level is visible, they do not damage fi getting
bumbuped,... On the other hand steel tanks are to be preferred in case of ultra high or ultra low temperatures. They are the only choice
for volumes of 12 I.

Is it possible to realize custom made tanks?
Yes. We can provide an adaptor flange (F80000001) which can welded on custom made tanks, at customer care.

How do I order spare tanks?

Tanks can be ordered without accessories just by adding a J in front of the relevant code (es. JE60303015 instead of E60303015).
When ordered with the normal code (e.g. E60303015) they include the relevant accesories such as: plugs, filler breather, oil level, fixing
devices, ... depending on the kind of tank. Tanks specified in PPC speaking code always include all relevant accessories.

www.hydronit.com

PPC2011/2-E000




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

ROUND STEEL TANKS A & B SERIES
- L -
A2
S ~
\ 2" BSPP
o
[ap] N | _
8 2" BSPP
Recommended tightening J
torque for ¥2” BSPP: 5 Nm |
36,5 _
it PPC Sparepart | L . Actual filling volume (It)
Description Weight
P assembly code code (mm) ) Horizontal Vertical
1,5 | cylindrical horizontal / vertical mounting 1,5A 1,5AV E60303001 | 150 | 0,78 Kg 1,8 1,2
2,5 | cylindrical horizontal / vertical mounting 2,5A/ 2,5AV E60303004 | 235 | 1,04 Kg 2,8 2,3
. L
64,5

I R ~
] \1/2” BSPP

]
8 -1 - B
Recommended tightening
torque for %2” BSPP: 5 Nm 1/2” BSPP
‘ \ iy
.| 36,5
Actual filling
L. PPC Spare part L @D .
Description Weight volume (It)
assembly code code (mm) | (mm) Horiz. | Vert.
5 | cylindrical horizontal / vertical mounting 5B/ 5BV E60303006 | 300 | 180 |1,82Kg| 6,5 49
10 | cylindrical horizontal / vertical mounting 10B/10BV E60303011 | 262 220 | 2,01 Kg 8,4 6,0
12 | cylindrical horizontal / vertical mounting 12B / 12BV E60303012 | 380 | 220 [2,47Kg| 12,6 10,5
All measures are indicative in mm
Material Fe PO4-EN10130 steel sheet 1,5mm thickness
Fluid Mineral based oil ISO/DIN 6743/4
Working temperature -15/+470°C

Note: the piping kit, standard suction filter, filler/breather and discharge plug are included when specifying
the tank in PPC assembly code. When ordering spare parts, only the discharge plug and filler/breather
are included.

www.hydronit.com

PPC2011/2-E010




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION E

HORIZONTAL/VERTICAL SQUARE WELDED STEEL TANKS C SERIES

- B _ - L -
|
1} (@)
S = o
)
! o
N
i ]
- 0O
@ 0O [
A Tl s
V | ene
[ A \
O 0 !
L
210(10C) - 245(22C)
Actual filling
. PPC Spare part L B .
Description assembly code code (mm) | (mm) d Weight volume (It)
Horizont.| Vertical
10 | squared horiz./vert. mounting 10C/10CV E60303042 | 330 | 185 | %" BSPP |5,50Kg| 9,6 8,1
22 | squared horiz./vert. mounting 22C | 22CV E60303044 | 470 | 223 | 3/4” BSPP|6,80 Kg| 20,6 18,5

All measures are indicative in mm

Fe P04-EN10130 steel sheet 1,5mm thickness
Mineral based oil ISO/DIN 6743/4
-15/+70°C

Material
Fluid
Working temperature

Notes: the piping kit, standard suction strainer, filler/breather and discharge plug are included when
specifying the tank in PPC assembly code.
When ordering spare tanks, only the discharge plug and filler/breather are included.

On request special square welded tanks can be realized. An inquiry must be sent to our technical
department with indication of quantities.

www.hydronit.com

PPC2011/2-E020




Hydronit
SECTION E

sales@hydronit.com - +39 0362 1841 210

SMALL SIZE SQUARE WELDED STEEL TANKS E SERIES

A \/ 2 lom om
%G L
60,5 165 50,5 - 105 o |
ot ot M6 screw — -

25 |

\

Y

a117,5
01025
|
i
8 n 9
I -
| @ !
30 %G |
- 276 -
L PPC . Actual filling volume (It)
Description assembly code Spare part code A Weight Horizontal Vertical
3 | square vertical mounting 3EV E60303053 98 mm | 3,09 Kg - 4,2
7 | square vertical mounting 7EV E60303057 190 mm | 4,32 Kg - 8,3
All measures are indicative in mm
Material Fe PO4-EN10130 steel sheet 1,5mm thickness
Fluid Mineral based oil ISO/DIN 6743/4
Working temperature -15/+470°C

Notes: the piping kit, standard suction strainer, filler/breather and discharge plug are included
when specifying the tank in PPC assembly code.
When ordering spare tanks, only the discharge plug and filler/breather are included.

www.hydronit.com

PPC2011/2-E030




Hydronit
SECTION E

sales@hydronit.com - +39 0362 1841 210

SMALL SIZE SQUARE WELDED STEEL TANKS E SERIES

115

26

T}
! N !
o A’VZ)!G
N 4 holes @ 11
Yo}
| <t
N
‘
|
0 Ol o il ©
Q& & - IR AT
y
|
:
y
- 306 |
- 328 -
- 355 -
L PPC . Actual filling volume (It)
Description assembly code Spare part code A Weight Horizontal Vertical
8 | square vertical mounting 8EV E60303041 133 mm| 4,50 Kg - 104
15 | square vertical mounting 15EV E60303014 237 mm| 5,20 Kg - 18,5

All measures are indicative in mm

Material Fe PO4-EN10130 steel sheet 1,5mm thickness
Fluid Mineral based oil ISO/DIN 6743/4
Working temperature -15/+470°C

Notes: the piping kit, standard suction strainer, filler/breather and discharge plug are included when

specifying the tank in PPC assembly code.
When ordering spare tanks, only the discharge plug and filler/breather are included.

www.hydronit.com
PPC2011/2-E040




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION E

SQUARE WELDED STEEL TANKS E SERIES

- 350 -
| o Q
ol
m S
N
3/4”BSP
1 & ‘ f\é
i e
o] —m! 30
- o5 N 4 holes @11
|
|
|
(e}
N
<
1/2” BSPP
O
Te]
|
L PPC . Actual filling volume (It)
Description assembly code Spare part code A Weight Horizontal Vertical
20 | squared vertical mounting 20EV E60303015 293 mm | 6,50 Kg - 20,8
30 | squared vertical mounting 30EV E60303048 423 mm | 8,50 Kg - 33,5
All measures are indicative in mm
Material Fe P04-EN10130 steel sheet 2,5mm thickness
ateria on top and side, 1,5mm thickness front and rear
Fluid Mineral based oil ISO/DIN 6743/4
Working temperature -15/+470°C

Notes: the piping kit, standard suction strainer, filler/breather, level gauge and discharge plug are
included when specifying the tank in PPC assembly code.
When ordering spare tanks, only the discharge plug, filler/breather and level gauge are included.

On request special square welded tanks can be realized. An inquiry must be sent to our technical
department with indication of quantities.

www.hydronit.com

PPC2011/2-E050




sales@hydronit.com -

SECTION E

+39 0362 1841 210

SQUARE PLASTIC TANKS L & M SERIES

o
-

Hydronit

¥ & ™
v ; |
T - = AN U 0 I R 0 2
- | ; B g :: o B
L J]a '
- L . | J5
e PPC Spare part L . Actual filling volume (It)
Description assembly code code (mm) Weight Horizontal | Vertical
1,5 | squared horizontal / vertical mounting| 1,5L /1,5LV H60303016 135 0,32 Kg 2,4 1,5
3 | squared horizontal / vertical mounting 3L/3LV H60303018 250 0,42 Kg 4.4 42
6 | squared horizontal / vertical mounting 6L/ 6LV H60303020 350 |0,63Kg 6,2 6,6
‘ only for 8M tank 130 40 1025
Q B ¥ ==
VV_\‘ 2 ‘ ) o /—
=l - N
g [ © O
“d H \nY .. o | o
E v -
) A 4
H\\ J = =/
L - - 70
e PPC Spare part L . Actual filling volume (It)
Description assembly code code (mm) Weight Horizontal | Vertical
5 | squared horizontal / vertical mounting 5M / 5MV H60303025 270 0,60 Kg 5,8 57
8 | squared horizontal / vertical mounting 8M / 8MV H60303033 375 0,76 Kg 8,1 8,8

Material
Fluid
Working temperature

PE-HD neutral / transparent color (DO NOT EXPOSE TO DIRECT SUNLIGHT)
Mineral based oil ISO/DIN 6743/4
-15/+70°C

Notes: the piping kit, standard suction strainer and filler/breather are included when specifying the tank in PPC
assembly code. When ordering spare tanks, only the filler/breather C86100003, C86200002 or C86100001 and
clamp band are included. Discharge ports are normally blind moulded.

www.hydronit.com

PPC2011/2-E060




Hydronit
SECTION E

sales@hydronit.com - +39 0362 1841 210

PLASTIC TANKS N & P SERIES

.-

Y

_.
o
s

3

i

E .
Jig

Sy : A
&7
(_ /—r&ﬁ
: £ ‘ (=) O
{ E e 2
| = o ~
o T :
E 571‘3 ‘ o o
E\\« - - — Y
- 450 o - 180
L PPC Spare part . Actual filling volume (It)
Description assembly code code Weight Horizontal Vertical
12 | squared horizontal / vertical mounting 12N / 12NV H60303036 0,94 Kg 12,6 12,1
@ -1
, 7] Y
=
\ J V
- L -
. PPC Spare part L Weiaht Actual filling volume (It)
Description assembly code code (mm) 19 Horizontal | Vertical
5 | round horizontal / vertical mounting 5P | 5PV H60303028 219 0,60 Kg 5,9 4.8
9 | round horizontal / vertical mounting 9P / 9PV H60303031 323 0,76 Kg 8,7 78

Material

PE-HD neutral / transparent color (DO NOT EXPOSE TO DIRECT SUNLIGHT)

Fluid

Mineral based oil ISO/DIN 6743/4

Working temperature

-15/+70°C

Notes: the piping kit, standard suction strainer and filler/breather are included when specifying the tank in PPC
assembly code. When ordering spare tanks, only the filler/breather C86100003, C86200002 or C86100001 and

clamp band are included. Discharge ports are normally blind moulded.

www.hydronit.com

PPC2011/2-E070




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION E

TANKS PLUGS AND ACCESSORIES

Filler breather Drain plug
1/2” - 3/4” BSPP 30
uw Hex 10
112”[314” < %&%
1/2”|3/4” 2" BSPP
30 | 47
10 | 17 A
21117 TCNBO0800 | 15
Suitable for B/BV type tanks (V2" BSPP) TB050801 19

Suitable for EV type tanks (3/4” BSPP) Suitable for all steel tanks

Spare part codes Spare part codes

C86100001 (2" BSPP)
C86100002 (3/4” BSPP)

Code: TCNB0800 (plastic)
TB050801 (steel)

Filler breather slip-in
_ 936

el
Y ELEiiij

méo
<12:24=

—

41

Suitable for all plastic tanks

Filler breather
3/4” BSPP female

K

3/4” BSPP

2 37,5

Suitable for all series plastic tanks

3/4” BSPP female
drain plug

11,5

Loiﬁ

3/4” BSPP
2 36

Suitable for all series plastic tanks

Spare part code

Spare part code

Spare part code

86200002

C86100003

E60513005

90° elbow for suction pipe
M 1/4” & 3/8” BSPT - M 3/8” BSPP

Recommended for horizontal tanks

EiE
. . [325
1 T J38"BSPP

Filter not
included
in the code

Py
FETRY

L D
PP01E40 40 | 1/4’BSPT
PPO1E77 77 | 1/4’BSPT
PP02E40 40 |3/8"BSPT
PP02E77 77 |3/8"BSPT

3/8” suction pipe

_ L
% !&
o | @
2 lo
L (se}
PP0242 42
PP0268 68
PP02125 125
PP02142 142
PP02165 165
PP02180 180
PP02190 190
PP02237 237
PP02370 370

To fit inlet strainers C34100005 to the pump

1/4” return/suction pipe

o o
o o
& &
Y| - L S
= <
L
PP0141 41
PP01123 123
PP01370 370

Recommended as suction pipe for
PMCO02 hand pumps and as return
pipe with C3420001 return filter.

Spare part code

Spare part codes

Spare part codes

PPO*E**

PP02*

PPO1**

www.hydronit.com

PPC2011/2-E080




sales@hydronit.com - +39 0362 1841 210

SECTION E

Hydronit

ACCESSORIES
Inlet strainers Standard inlet strainer filters Steel tank adapter
Screened eccentric type Filtration degree: 90 micron
—] 3/8"BSPT D 117,5
. 14 28
= AERA
g 1 T 2 ‘ § 1
Q
; 3 &
= Filtration degree: - 60 - w
- 90 micron \
26| 21 D
C€34100004 1/4" BSPP Unpainted, to be welded on custom
Recommended for 1,5 | tanks C34100005 3/8" BSPP made tanks
horizontal mounting
Weight: 0,13 Kg Weight: 0,013 Kg Weight: 0,21 Kg
Spare part code Spare part codes Spare part code
C34100001 C3410000* F80000001
Return filter Relief valve return diffuser 90° adapter for vertical tanks
— To be mounted in cavity Tr
[ 1/4°BSPP 0 be fitted |
o be fitted in 1y
SO V2" BSPP
X0 1/4"BSPP - - o
OQ) o
940 %)
9.%] © J m
....l AN =
942, D - ' N
o
0% S \%@/ SR |
OOL \ Al -~ o
| y
232 | __ \ |
It reduces foam and noise when
Suitable for all tanks over 3 relief valve is laminating. 44
V\_/elght: 0.13 Kg. . Recommended for all vertical
Filtration degree: 90 micron mounting tanks.
Spare part code Spare part code Spare part code
C34200001 SFEP01D E60513004
Flexible plastic pipe Flexible plastic pipe holder
— for return line
% 1/4” BSPT
L m 10
N F—T T =
Q -
y
N~ / y co_ﬂ
S -
/ | Qy
/
Recommended as standard return pipe.
To be fixed with TR01-12 and cut at proper lenght. 4 46,5 o
To be ordered in meters -
Spare part code Spare part code
SF12 TRO0112

www.hydronit.com

PPC2011/2-E090




sales@hydronit.com -

EXTERNAL MANIFOLDS & ACCESSORIES

+39 0362 1841 210

Standard NG6 (cetop 3) base modular
manifold blocks with parallel or series

connections, rear or lateral ports. They
can be staked one upon the other. Top
manifold P and T ports can be plugged

Piloted operated check valves can be
integrated within @ modular manifold
block for NG6 (cetop 3) valves, thus
avoding the extra modular cetop 3
sandwich type valve between the

Hydronit
SECTION F

The external bulk 8,8
cc/stroke hand pump can

be fitted under NG6
(cetop) 3 modular
manifolds. An easy way

with simple 1/4" or 1/8" BSP plugs. base block and the spool valve. to add an «emergency»
functionality to the
power pack. The lever

can be rotated 360°.

The PPC to SDO01 stackable valves
converter lets you mount our range
of modular stackable valves, an up-
to-date and lightweight alternative to
NG6 (cetop3) directional valves

The spin-on type retunr filter is mounted in a
modular manifold which can be stacked under
NG6 (cetop 3) modular manifolds

oy

A full set of accessories is available to complete
the power pack configuration

The NG3 MICRO set of blocks and valves is a
ultracompact and cost effective alternative to NG6
(cetop3), up to 15 I/min. They can be mounted thanks
to the PPC to PPM adaaptor

How many types of external manifold blocks can be mounted?

The central manifold exit face allows the mounting of two different block systems, fixed by 2x M8 bolts (normally used for cetop3
modular manifolds stacks) or 4x M6 bolts systems (for modular manifolds for cartridge valves). The two bolt systems cannot be mixed
on the same stack. For every product code the fixing system type is clearly displayed in following tables. To mount stackable directional
valves or NG3 MICRO directional valves a relevant adaptor plate is required. See section G for the relevant valves details.

When do I need to mount the spacer block 28mm?
Whenever a big motor is mounted on the power pack. Normally the E60403004 spacer must be mounted below the stack of cetop3
blocks with AC motors with frame 80 or higher and with DC motors with frame 125 or higher.

When are the modular manifolds for differential area cylinders used?

With UR central manifolds, for reversible pumps circuits, the exit port are A and B, instead of P and T as usual. With differential area
cylinders, when the bidirectional pump flow is outputting to B port, there will be more flow returning to A port, connected to the piston
side of the cylinder, than that going to B port, connected to the rod side, due to the cylinder different area ratio. This block function is
to discharge to tank the extra flow generated, which cannot be absorbed by the pump itself.

www.hydronit.com

PPC2011/2-F000




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION F

EXTERNAL MANIFOLDS & VALVES MOUNTING EXAMPLES

PPC + SD01 STACKABLE VALVES PPC + NG3 MICRO BLOCKS & VALVES

SD00*
PPC TO SDO1
STACKABLE
B VALVE i
CONVERTER N
E60403006
@
11— | 0
—gelelele) E
j [ — ©
N0 =0 09— AN =0 6,0 .
@00 oYekei|§
\ M60403010
\ M60403005
M60403004
spotre PPC TO PPM
CONVERTER
E60403008M
PPC + NG6 (CETOP 3) BLOCKS & VALVES
. |&2 E60423001™ The mini powerpacks external
N 60433001 manifolds and valves are arranged
i IS, @g following a stack levels logic. Each
O 1 @) Lo E60403005 stack is numbered as n, n.1, n.2,
N4 &\_z/ . .
L5 .4 .3 2 1 E60403004 n.3,._.. where n is the basic .
d manifold stack number, n.1 is the
* .
E60403001  E60403010  E60413001 — first valve mounted on top of
o T manifold n, n.2 is the second one
= mounted on top of n.1,... See
‘ [ ] o~ above self-explanatory drawings
[— AN i i
— o where manifolds are coloured in
—— orange and valves in green. Stack
—_— levels are numbered in red.
0

www.hydronit.com
PPC2011/2-F010



-
sales@hydronit.com * +39 0362 1841 210 )il_.]drtlnlt

SECTION F

NG6 (CETOP 3) MODULAR MANIFOLDS. REAR PORTS

B 80 (3,15)
325(1,28) _
S S
A ‘
G’, " /’ \\
; I “\ //"
q- s
Y
47,5 (1,87)
17,5 (0§9) . _ 3/8"BSPP
A B ‘ 9/16-18UNF (US type)
] i R

| h |
,(/ ; NN .\

measures in mm (inches)
Weight: 0,37 kg (0,82Ib)
Fixing system: 2 x M8 tie-rods
steel class 8.8 or above > % M8 bol
1/4” BSPP x M8 bolts

39 (1,54)
13 (0,51)
— C@
7l
/ \‘
EY

Parallel connection| Spare part code

Rear ports E60403001

Rear ports E60403001US
US execution

Note: to add external manifolds to PPC assembly code, just add their spare part codes at the end of PPC code. Ex: PPC-0,8 12DC-UA-J-G1,1-
D/280-G-1,5L+E60403004+E60403010

The Cetop attachment is on motor side. With AC motor frames bigger than 71, always add a spacer manifold E60403004 (see next page) below
the Cetop manifold to avoid interference between the Cetop valve and the motor.

Recommended tightening torque for M8 bolts: 16 Nm

www.hydronit.com

PPC2011/2-F020




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION F

NG6 (CETOP 3) MODULAR MANIFOLDS. LATERAL PORTS

©
o
2
80 (3,15) o %)
o o 2
’ L
o
F::L:? FZZLZH % 8
‘ E——im—o === mn| <
| T | 0 <
O O o ik
o ) o
| V7 A\ : } r——F====A
ol TS
Sl
| © P ©
13 (0,51)
1/4” BSPP_ - 2 x M8 bolts
Tz
measures in mm (inches) f:: :"“}F,,T @ 18
! ! ©
Weight: 0,56 kg (1,2Ib) A S
Fixing system: 2 x M8 tie-rods A ozoms— | i ©
steel class 8.8 or above - =1 |

Option P port:
P port for modular blocks

Parallel connection| Spare part code

Lateral ports E60403010 33

A

Lateral ports E60403010US
US execution

1/4" BSPP
1/8” BSPP

\“

Serial connection Spare part code Hex.17
Lateral ports E60403011
Lateral ports E60403011US

US execution

Note: to add external manifolds to PPC assembly code, just add their spare part codes at the end of PPC code. Ex: PPC-0,8 12DC-UA-J-G1,1-
D/280-G-1,5L+E60403004+E60403010

The Cetop attachment is on motor side. With AC motor frames bigger than 71, always add a spacer manifold E60403004 (see next page) below
the Cetop manifold to avoid interference between the Cetop valve and the motor.

Recommended tightening torque for M8 bolts: 16 Nm

www.hydronit.com

PPC2011/2-F030




-
sales@hydronit.com * +39 0362 1841 210 )il_.]drtlnlt

SECTION F

NG6 (CETOP 3) MODULAR MANIFOLDS WITH INTEGRAL PILOT OPERATED CHECK VALVES

st S S 3=
i Hins
e i
iI II !
T I RN S i
{ \
;
A — |
8\ ==
N el Tod g
o ‘ — b =
a ] «~
B O @ o
O @ a2
: =
-] D
0
108 (4,25) =
(o]
Ay
o
| f |
I == [N e
a ".:- -------- ‘& é 4& L \‘
o] i
= B AoToB \ B
; -~ ! EEEE} | G 1 ‘r
S = t G
i i 05' | S 1 '.-.-.-.-.1‘ *@ ‘ P «@ - Se— v g
measures in mm (inches) | = L A A —— =
| N
(2] .
o~ <
80 (3,15) N
Main features =1 =
Weight 0,71 Kg
Fixing system 2 x M8 tie-rods steel
class 8.8 or above
A B

Spare part code Spare part code Spare part code
E60413002 E60413001 E60413003
E60413002US* E60413001US* E60413003US*

*: US execution with 9/16-18UNF SAEQ6 exit ports
Code does not include the Cetop solenoid valve.
Recommended tightening torque for M8 bolts: 16 Nm

www.hydronit.com
PPC2011/2-F040



sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂnit
SECTION F

MODULAR MANIFOLD WITH PILOT OPERATED CHECK VALVES

—
A i S—
A _—
o W ) N
3 O g
N n o>
- @ Rz
S
- Z
-]
©
108 (4,25) v
measures in mm (inches) - > ©
)
ol — —
N I {
Z
o
) [ {
. Y — I
Suitable for:
U4 body
UR bod
oy 80 (3,15)
Weight: 0,5 kg
Fixing system: 2 x M8 tie-rods
steel class 8.8 or above
A B

A B

Spare part code

E60403027

E60403027US*

*: US execution with 9/16-18UNF SAEQ6 exit ports
Recommended tightening torque for M8 bolts: 16 Nm

www.hydronit.com
PPC2011/2-F050



-
sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION F

SPACER ELEMENT

80

28

Weight: 0,23 kg |
Fixing system: 2 x M8 tie-rods
steel class 8.8 or above

2 x M8 bolts

o
o
Q

Suitable for: all central manifolds with
AC motors with frame bigger than 71
and DC motors with frame

bigger than @125. Mounting example

E60403004
P1 T
r—r—-—-—- o
i |
g ;
P T -

Spare part code

E60403004

www.hydronit.com

PPC2011/2-F060




sales@hydronit.com - +39 0362 1841 210

Hydronit

SECTION F

90° ROTATION MANIFOLD

Weight: 0,72 kg
Fixing system: 2 x M8 tie-rods
steel class 8.8 or above

80

www.hydronit.com

44,5

2 x M8 bolts
Mounting example
E60403005 .
\
- —
— ©)

©

O
m— |
| |
P1 i

Spare part code

E60403005

PPC2011/2-F070



sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'lit
SECTION F

MODULAR MANIFOLD WITH CHECK VALVE FOR DIFFERENTIAL AREA CYLINDER

39

Main features -

Suitable for UR body with differential area cylinder

Fixing system: PPC 2xM8 tie-rods steel class 8.8 1 1 5
Tightening torque: 16Nm o
Weight: 0,5 kg 1 20
A B ‘
| J@f\_ |
A B T

Spare part code

E60403028

Suitable for: UR body with differential cylinders

Fixing system: 2 x M8 tie-rods

steel class 8.8 or above

Notes: Recommended tightening torque for M8 bolts: 16 Nm

www.hydronit.com
PPC2011/2-F080



sales@hydronit.com - +39 0362 1841 210 )’l_.]dl'ﬂl'lit
SECTION F

PM09 HAND PUMP MODULAR MANIFOLD

350

95
4

(L

\,\, M g i
Fixing system: 2 x M8 tie-rods

|
Material class: min. 8.8 or equivalent |
|
|

126,9

Block height: 39mm

Weight: 1,8 kg
P1L P.1/8” BSPP
2 14 B T4 BSPPY,
| N
|
80
Main features Mounting example
Max pressure 210 bar
Displacement 8,8 cc/stroke
Fixing bolts 2 x M8 (8.8 class steel)
Filtration grade 25+50 |
Temperature range -20 = +70°C ﬂ 1
]
1© O
O
_E—

P1

P T

Spare part code

PMO09

Recommended tightening torque for M8 bolts: 16 Nm.

Commisioning: the pump must be bled by opening the plug of the unused pressure port
(P o P1), pumping a few times until oil comes out, then tightening the plug again.

www.hydronit.com

PPC2011/2-F090




sales@hydronit.com - +39 0362 1841 210

SECTION F

RETURN LINE FILTER MODULAR MANIFOLD

Fixing system: 2xM8 tie-rods
steel class 8.8 or above

Main features

Opening valve pressure 210 bar
Max flow 20 I/min
Filtration setting 15 u
Oil temperature -30 ++80 °C
Weight 0,87 kg

Note: Recommended tightening torque
for M8 bolts: 16 Nm

Pressure gauge

Hydronit

2475

114

i

EXcRA)
o !

Hydraulic scheme

optional

JP1_ TN

| ANIRES

I =

I I

| T
I

B

| I I

| |

[N SRR P I '

P T

for return filter manifold

20

—

=

1/8” BSPT

@40

Weight: 0,1 Kg

Spare part code

MIR4010

www.hydronit.com

Note: standard code does not
include the MIR40 pressure
gauge or F4 pressure switch

Options

E60403020

FO201385

Pressure switch

Spare part code

Modular manifold
with return filter
onT

Replacement cartdrige part code

for return filter manifold

78

48 Setting range 0,2 +2,5 bar
Protection degree IP 65
N R . Hysteresis 10+ 15 %
Weight 0,05 Kg
Max load 0,5A at 250 VAC
Electric switch NO/NC
\ A
FAROMS3 | 1/8” BSPP

Spare part code

FAROM3

PPC2011/2-F100




Hydronit

sales@hydronit.com - +39 0362 1841 210
SECTION F

BASE MANIFOLD CONVERTERS

PPC TO SD01 STACKABLE VALVES CONVERTER
(needed to mount SD01 stackable valves)

80 o

©

@ 8,5N° 2 holes

[ Y.

»135 | |

19

Fixing system: 2 x M8x20 steel class 8.8 or above
Weight: 0,22 Kg

Spare part code

E60403006

www.hydronit.com

PPC TO PPM BASE CONVERTER
(needed to mount PPM NG3 MICRO blocks range)

PPC M6 fixing system

N
e

o
<
' O
%A fixing system
- |
Y

Fixing system: 3 x M6x20 steel class 8.8 or above
Weight: 0,11 Kg

Spare part code

E60403008M

PPC2011/2-F110




-
sales@hydronit.com * +39 0362 1841 210 )il_.]drtlnlt

SECTION F

PPM NG3 MICRO MODULAR MANIFOLDS. LATERAL PORTS

> "
= | 1e 2 x 1/4" BSPP ports
3 - -
a
=)
0| ©
m) sy
o X<
o 1°
™
| |
_ 70 o
- et 5
S -9
P 0
] Y T LO‘
© 0]
INIERE A | ©
Fan B
Y ~ 7 o o
Weight: 0,21 kg Y P "
Fixing system: 2 x M8 tie-rods
steel class 8.8 or above 20

Parallel connection| Spare part code

Lateral ports M60403010

Lateral ports M60403010US
US execution

Note: to add NG3 MICRO external manifolds to PPC a base converter assembly code, just add their spare part codes at the end of PPM code.
Ex: PPM-0,8 12DC-MB-J-K0,6-D/280-G-1,5L+M60403004+M60403010

The NG3 micro valve attachment is on motor side.

Recommended tightening torque for M8 bolts: 16 Nm

www.hydronit.com

PPC2011/2-F120




sales@hydronit.com - +39 0362 1841 210

PPM SPACER ELEMENT

Weight: 0,14 kg
Fixing system: 2 x M8 tie-rods
steel class 8.8 or above

www.hydronit.com

70

Hydronit

SECTION F

[
P T
] ®
- - - ™
.II AN Y
2 x M8 bolts . 23
Mounting example
M60403004
\
P1 T1
r—r—-——-—- gl
| |
i |
O SRniaE + -
Spare part code
M60403004

PPC2011/2-F130



-
sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂnlt

SECTION F

PPM 90° ROTATION MANIFOLD

Ll |I 1 |I
e oy
ooy ooy O
1 - I RN
< 5/# _ A S 4 b 0
oo G 3
L \ / \ /
~ . 14 So_ - /
Weight: 0,26 kg Q
Fixing system: 2 x M8 tie-rods —
steel class 8.8 or above
2 x M8 bolts
n
T P 0
O O @
*

2 x M8 bolts

Mounting example

M60403005

Ve

9.0

Spare part code

M60403005

www.hydronit.com
PPC2011/2-F140



-
sales@hydronit.com * +39 0362 1841 210 )il_.]drtlnlt

SECTION F

MODULAR MANIFOLDS FOR 3/4-16 UNF CARTRIDGES. TWO WAY

L
=z
2 72 (2,83)
©
SI [
© b 1
: R Y
| 1
Weight: 0,26 kg (0,571b) 03;
Fixing system: 4 x MG tie-rods ] et ™
steel class 8.8 or above 8 \
oo
o
B =
o |
B
— |
1/8” BSPP - b
[ >
- JO O
5 O \
< P
o 4 x M6 bolts
< ‘ T ANV PVIRS
| O
Circuit example Mounting example

==

Note: code does not
include the MSV or MDV
solenoid valve.

Spare part code

Recommended tightening
E60403030 torque for M6 bolts: 8 Nm

E60403030US*

*: US execution with 9/16-18 UNF SAEO06 exit ports
3/4-16 UNF manifolds can be stacked one upon the other but cannot be used with cetop 3 modular manifolds
since the tie rods bolt pattern is different. The three way block is not compatible with square vertical tanks.

www.hydronit.com

PPC2011/2-F150




-
sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION F

MODULAR MANIFOLDS FOR 3/4-16 UNF CARTRIDGES. THREE WAY

o
: >
5 _1/8’BSPP m
© Sy
1 = —— ~
% | I i 1
A B / :\r,,—77
(i |
' . N o
. = vt I <
Weight: 0,32 kg f |
Fixing system: 2xM8 tie-rods | |
steel class 8.8 or above ; ) [ !
1/4” BSPP A
72
PO &}
" T.
5 |
() |\ 4xMébolts
| o @
1/8” BSPP__ | |.1/8"BSPP
Circuit example Mounting example

Note: code does not
include the MSV3V

Spare part code solenoid valve.
Recommended tightening
E60403031 torque for M6 bolts: 8 Nm

Note: 3/4-16 UNF manifolds can be stacked one upon the other but cannot be used with cetop 3 modular
manifolds since the tie rods bolt pattern is different. The three way block is not compatible with square vertical
tanks.

www.hydronit.com

PPC2011/2-F160




sales@hydronit.com - +39 0362 1841 210 )’l_.ldrﬂnit
SECTION F

ACCESSORIES

In line mounting SAE 8 manifolds Foot mounting supports
i
4 38 .6,
- ] ~
3/4-16 UNF - - o / \ ©
=
| 15 -------- j.- -------- I | r ‘ ‘ : : J
3 " E E60543006 E60543007
3 P Lpzzzgzst ‘ Weight: 0,4 Kg Weight: 0,6 Kg
Y 0o
S/ ':.'Iii':':'::" <> Q
i
o 8,5 - n. 4
R e, = N
D _ 2 x M6 bolts o [y
<
N
o . | X
%)
'
, Y
50 ‘
- - ‘ ‘ 211-n.2
124
E60543006: suitable for all tanks except E60303012
E60543007: recommended for E60303011, E60303012 tanks
Spare part code D Weight and with frame 90 AC integral motors.
BFCSAE0801 1/4” BSPP 0,16 Kg Spare part codes
BFCSAE0802 3/8” BSPP 0,16 Kg E60543006 E60543007

www.hydronit.com

PPC2011/2-F170




sales@hydronit.com - +39 0362 1841 210

ACCESSORIES

Pressure gauge

Hydronit
SECTION F

Pressure switch

Protection degree IP 65
Thermal drift +0,04%/1K from 20°C
Weight 0,206 Kg

Static working pressure 75% end of scale
Peak working pressure end of scale

Working temperature -10 =+ +60°C

Precision class cl. 1.6 EN837-1
29 763

— — — -~

o [}

1/4” BSPP

Spare part code

***.pressure max in bar
MIR63*** (60, 100, 160, 250, 315 bar)

www.hydronit.com

Protection degree IP 65
Hysteresis 15+ 25%
Weight 0,05 Kg
Max load 0,5A @ 250VAC
Working temperature -25 + +85°C
Switching accuracy +4% end of scale @ 20°C
Electric switch NO /NC

78

|

1/4 BSPP

Spare part code

***.pressure max in bar
F401*** (050, 100, 200, 400 bar)

PPC2011/2-F180




sales@hydronit.com - +39 0362 1841 210 )’l_.ldrﬂnit
SECTION F

ACCESSORIES

Gauge isolator F-F In-line check valve

EMILO1C EM9001C L ch
& [ & & . 4"BSPP |
2 2 @ —
2 ol % H ‘ “
I o 3 I al 1 M2 o
| ~ J
- - - N - « \ A ‘
‘ ] } ‘
54 LBZL» Spare part code D Ch L Weight
VURO1 1/4” BSPP 19 55 0,10 kg
Weight: 0,14 Kg. Max working pressure: bar
VURO02 3/8” BSPP 24 65 0,18 kg
Spare part code
19 58 0,10 kg
VURSAE06 9/16-18UNF
EM9001C / EMILO1C (0.75) | (228) | (0.221b)
=
In-line unidirectional flow control valve In-line bidirectional flow control valve
[ 1
E [ E
A ©
| A\ y
25 (0,98) ' | 25(0,98)
Spare part code D E L Weight Spare part code D E L Weight
STUO1 1/4” BSPP 68 66 0,34 kg STBO1 1/4” BSPP 68 54 0,29 kg
STU02 3/8” BSPP 68 77 0,36 kg STB02 3/8” BSPP 68 54 0,27 kg
! 68 705 | 0,38kg 68 54 0,30 kg
STUSAE06 9/16-18UNF (2.68) 2.78) | (0.841b) STBSAE06 9/16-18UNF (2.68) (2.13) (066 1b)

www.hydronit.com

PPC2011/2-F190




sales@hydronit.com - +39 0362 1841 210 )il_.ldl"ﬂl'lit
SECTION G

EXTERNAL VALVES

NG3 MICRO directional valves: the optimized Stackable directional valves: the alternative
solution for top performance with extra compact solution to reduce power pack dimensions and
dimensions. Each valve requires a base modular weight. A and B threaded ports are directly
manifold. machined on the valve body

NG6 (cetop 3) modular sandwich valves:
flow control and pressure control. These
valves are made with aluminium body and

NG6 (cetop 3) valves: the
conventional choice for market

the same functional cartridges used in the compatibility and universal service
power pack central manifold for cost around the world. Eaclh vaIve_f | Cartridge valves in external blocks: the cost
effectiveness and light weight requires a base modular manifold. effective and lightweight solution

Which are the advantages of NG3 MICRO directional valves and stackable directional valves compared to NG6 (cetop 3)
valves?

Lower weight, lower dimensions, lower cost. Each stackable valve height of just 31 mm can let you build a stack of, for example, 7
valves in 217mm. A similar stack made with cetop 3 valves would be nearly double height. NG3 micro directional valves are to be
preferred when other valves (pilot operated check valves, flow controls, pressure controls,...) are added to the hydraulic scheme. They
are currently available with 12V or 24V DC coils.

Is it possible to manufacture special manifold blocks with customized valves combinations for specific applications?
Yes. Whenever quantities justify the investment in design and manufacturing. Ask our sales department first.

Which coils and connectors do I select for the spool directional control valves?

NG3 MICRO valves SDO0* series use M100 series of coils, 12 or 24 VDC. Stackable valves SD01* series use DC or RAC M120 coils
series. NG6 (cetop3) valves SD03* series use M160 series of coils either DC or RAC (rectified current). When choosing a RAC coil, a
rectifying bridge connector must be chosen (KA132R***), A standard KA13200000 connector must be always used with DC coils.

www.hydronit.com

PPC2011/2-G000




-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION G

NG3 MICRO DIRECTIONAL SOLENOID VALVES

|

B 151 -
Weight: 0,7 kg (2 sol), 0,55 kg (1 sol)
. © —
H ] ) ; T —
c € :: O ’ief‘(‘gwiff%’ O ‘E ] N
H-l M TroST o H
-—
10 =
3 holes ¢ 4,5
- 20
Main features Spare part code
Max pressure 315 bar
M T port 100 b . . .
axpontpo o SD00 NG3 micro directional
Max flow 15 I/min solenoid valve
Fixing bolts 3 TCEI M4x30. 2,8Nm torque
10.9 class steel or better
Coil insulation Class H A2 Spool and scheme:
Electric connection DIN 43650-A/ ISO 4400 - see side table
Protection class IP 65/ DIN 40050 -
Duty cycle ED 100% 24DC | Supply voltage:
Voltage required +/- 10% nominal voltage — see below table
Manual override included as standard
Normatives EN50081-1 / EN50082-2
(89/336 CEE electromagnetic comp.) - Options:
73/23/CEE / 96/68/CEE (low voltage)
- =std
Supply | Coil | Spare coil Spare Holding power A B
voltage (V) voltag code connector code| consumption Code
PT
12DC 12DC |M10040001| KA132000B1 16W
Double solenoid
24DC 24DC |M10040002| KA132000B1 16W .
A2*
24ACIg0 12| 24DC [M10040002| KA132R11B1 16W all oKl
Y,
B2 @Al 2 e
Y,
C2 el X HI
E2 ol
Other voltages and electric connectors types (Amp Junior, flying leads,...) available on request. . .
Inrush power consumption can be up to 3,5 times higher than the holding one. Slngle solenoid
Y,
* = spools with price addition. Other spools are avaiable on request A11C

www.hydronit.com

PPC2011/2-G010




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION G

STACKABLE DIRECTIONAL SOLENOID VALVES

56
il TIL
UL
o——
—
g‘ { g E }'U
| !
rnn
155

EI—L ___________________ -‘_I'_'_ g
|
Mounting manifold c €
_ 80 - 1/4” BSPP

0.0
31
€ o3
€ Ojj

60
+©
s ©

19—

ol T

3 x M6 bolts
|
[
8,5 N° 2 holes - ‘® 13,5
2 27 . -
Spare part code: E60403006 Weight: 0,89 Kg (1 sol.)
. 2135 Mounting bolts 2 x M8x20 1,09 Kg (2 sol.)
Weight: 0,22 Kg Fixing system: 3xM6 tie-rods
Main features Spare part code
Max pressure 250 bar
Max p on T port 210 bar static, 140 bar dynamic SDbo1 S.tac'(?ble .
et o i directional solenoid
Fixing bolts 3 TCEI M6 x 6Nm torque. valve
10.9 class steel A2 Spool and scheme:
Coil insulation Class H see side table
Electric connection DIN 43650-A / 1SO 4400
Protection class IP 65/ DIN 40050 24DC Supply voltage:
Duty cycle ED 100% - see below table
Voltage required +/- 10% nominal voltage R
Manual override included as standard - Position type:
Normatives (891336 CEEEgggt?gL_;g/nE’t\i‘f (t):g?nzp_i - - = intermediate
73/23/CEE / 96/68/CEE (low voltage) C= top closed
Supply | Coil | Spare coil Spare Holding power A B
voltage (V) voltag code |connector code| consumption Code ﬁz
12DC 12DC | M12040001| KA132000B1 22W
Double solenoid
24DC 24DC |M12040002| KA132000B1 22W -
A2* Y
24ACIg0 12| 24DC [M12040002| KA132R11B1 22W all = Ao
230AC/30 12/ 220RCM12040005| KA132R13B1 22W B2 @l Xl: ol e

Cc2 a X HI Ui
E2 a X s

Other voltages and electric connectors types (Amp Junior, flying leads,...) available

on request. Single solenoid
Inrush power consumption can be up to 3,5 times higher than the holding one.
7
A11C

* = spools with price additional. Other spools available on request

www.hydronit.com

PPC2011/2-G020




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION G

NG6 (CETOP 3) DIRECTIONAL SOLENOID VALVES

|
] [ E
) — R — <
— — (e0]
] 1l — Y
Weight: 1,43 kg (2 sol), 1,16 kg (1 sol) — °8 - 65 - °8
q3 ) ]
| — T
| ‘ ( o
® % ¢ A NI
\ M ™
1/
4holes 855 - |19
40,5
Main features Spare part code
Max pressure 250 bar
Max p on T port 210 bar static, 180 bar dynam.lc SD03 Cetop 3 directional
Max flow 40 I/min solenoid valve
Fixing bolts 4 TCEI M5x30. 5Nm torque
10.9 class steel or better
Coil insulation Class H A2 Spool and scheme:
Electric connection DIN 43650-A/ ISO 4400 - see side table
Protection class IP 65/ DIN 40050 -
Duty cycle | EDIT 24DC | Supply voltage:
Voltage required +/- 10% nominal voltage — see below table
Manual override included as standard
Normatives EN50081-1/ EN50082-2 .
ST : Options:
- =std
Supply | Coil | Spare coil Spare Holding power A B
voltage (V) voltag code connector code| consumption Code
PT
12DC 12DC |M16040001| KA132000B1 26W
Double solenoid
24DC 24DC |M16040002| KA132000B1 26W .
A2* ¥
24ACIg0 12| 24DC [M16040002| KA132R11B1 26W all oKl
115AC/30 H2 110RC|M16040004| KA132R12B1 26W B2 @kl ]l e
230AC/§3 :: 220RC|M16040005| KA132R13B1 26W Cc2 @’I‘E“llm
E2 ol
Other voltages and electric connectors types (Amp Junior, flying leads,...) available on request. . .
Inrush power consumption can be up to 3,5 times higher than the holding one. Slngle solenoid
Y,
* = spools with price addition. Other spools are avaiable on request A11C

www.hydronit.com

PPC2011/2-G030




sales@hydronit.com -

+39 0362 1841 210

NG6 (CETOP 3) DIRECTIONAL MANUAL VALVES

Weight: 1,32 kg

Main features
Max pressure
Max p on T port
Max flow

Fixing bolts

Temperature range
Recommendended filtration

Code

www.hydronit.com

300 bar

150 bar

30 I/min

4 TCEI M5x30. 5Nm torque
10.9 class steel or better
-20 + +80°C

25+50

160
)
|

Hydronit
SECTION G

295

@55

i

|
i
|
|

46

Spring centered

Detented

Spool control

HDO3

Spare part code

Cetop 3 directional
manual control valve

Spool control:
see side table

—— Spool type:
see side table

Options:
- =std

Spool type
| T
2 | LA
3 | [HHIX
o] [

PPC2011/2-G040



-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION G

NG6 (CETOP 3) SANDWICH FLOW CONTROL VALVES

Fixing system: 4xM5 tie-rods
steel class 12.9 or above

40

Mounting example

E6043300*

E60403010
==
E60403004 T3ri

=

SDO3*r***

— N°4 holes @5,5

Max pressure 300 bar
Max flow 15 /min flow control valve

Weight Single relief: 0,52 kg

Double relief: 0,64 kg Adjusting device:

C = screw (std)

Recommended filtration settings: 25 + 50 u =
Oil temperature: -30 + + 80 °C V = handwheel

Main features E60433001 — Cetop3 sandwich
meter-out

P T Al |B Pl T Al B P [T Al B
Spare part code Spare part code Spare part code
E60433001* E60433002* E60433003*

Notes: code does not include the Cetop solenoid valve.

www.hydronit.com
PPC2011/2-G050



-
sales@hydronit.com + +39 0362 1841 210 )il_.]drunlt

SECTION G

NG6 (CETOP 3) SANDWICH RELIEF VALVES

b/
53 max

Mounting example

- 125 | 80 max
E60423007 SDO3***** N°4 holes &5,5
E60403010
—_— A [ — Py T 4}4/
s A @ B
s 1 e
\ - TP 4

Main features E6042300* — Cetop3 sandwich
Max pressure 350 bar

relief valve
Max flow 35 I/min
Weight Single relief: 0,71 kg .
Double relief: 0,87 kg 7 Pressure range settings:
L =10 + 60 bar
Recommended filtration settings: 25 + 50 A=20+ 180 bar
QOil temperature: -30 + + 80 °C B = 35 + 280 bar

Fixing system: 4xM5 tie-rods 1 = screw (std)

steel class 12.9 or above
2 = handwheel

3 = with cap
4 = plastic seal

Pl T Al B Pl [T Al B
Spare part code Spare part code Spare part code
E60423001** E60423002* E60423003**

Notes: code does not include the Cetop solenoid valve. When E60423001 relief valves
have different pressure ranges, please specify them separately.
Es: E60423001AB=180 bar max for valve on A port, 280bar max for valve on B one.

www.hydronit.com

PPC2011/2-G060




sales@hydronit.com - +39 0362 1841 210 )‘l_.ldrﬂl'llt

SECTION G

MSV3V - DIRECT OPERATED 3/2 WAY DIRECTIONAL SPOOL SOLENOID VALVE

| Hex. 24
1 3/4-16 UNF-2A
w.-
Te)
@ ~
~ Q
Y
Y
. 104 o
MSV3V40
SIANZS
3 1
Main features Spare part code
Max pressure 210 bar
Max flow 12 I/min (20 I/min with no block) MSV3vV ;n;‘:i;v:éted
Coil thermal insulation Class H
Electric connection DIN 43650-A/ ISO 4400 40 Spool type:
Coil protection class IP 65 / DIN 40050 . 40 = std
Duty cycle ED 100%
Voltage required +/- 10% nominal voltage 0 Options:
Recommended tightening 30 Nm — 0=no options (Std)
t°_rque E = emergency
Oil temperature -25 + +70°C 0000 Supply voltage:
0000 = no coil (std)
see below table
Coils selection Pressure drop diagram
Supply Coil | Spare coil Spare Holding power g
voltage (V)| type code |connector code| consumption % 10 \x/«
12DC 12DC | M14040001| KA132000B1 22W // /?*
24DC 24DC | M14040002| KA132000B1 22W ,/ <
5 7~
24ACI§3 :; 24DC | M14040002| KA132R11B1 22W 4/
50 Hz _’/,//
115AC/ ¢y 1471 110RC | M14040004| KA132R12B1 22W —_—
50 Hz 0 5 10 15 20
230AC/g, .| 220RC |M14040005| KA132R13B1 22W
Flow [I / min]

Other voltages and electric connectors types (AMP JUNIOR flying leads,...) are
available on request.
Inrush power consumption can be up to 3,5 times higher than the holding one.

www.hydronit.com

PPC2011/2-G070




